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§1.

Zz=X+iy z= X+VYyi

Z = X1+iy1

X ) )

z

Xx=Rez, y=Im z.

Z2=X tiy :

Xt +iye = X +iy



X1 = X2, Vi=Y .

: X+t 0= Xx; ,
,0+1 0=0 .
X+iy X-1iy : X+iy X-1iy
,  X-1y X+iy : z
Z,
X-1y= X+iy .
() ().
( ). Z =X tiV, =% tiy ()
2t 2= XE X +i ity |,
Z, + 2% Z yZ )
z - 2 z 2

Z=X+iY 2= Xty :
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1 I -1’
2= Xt X -y +i XYty X |
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Z =X tiy = X +iy ( z0)
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a-b=(a+b)(a- b)),
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’ Yy z
Z




, “ 1+i0"
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Z=X+1y, X,y Oz X 14
y 0z z ,
lz] r :
r=|zl= X +y=20,
| z]| =0 z=0.
z | z| , ,
11,
| x|< |z, [yls [z],[z|s | x| +]y],
-zl Re = | 2|, -]|z|£Im z=£ | z| . (1.1)
12,
|Zl+22|S|21|+|22|, (1.2
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: 13,
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2

= X -X 4+ V-V
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z (Argument),
0 =Arg z.
, z : arg z
-m<arg =T (1 4)
Arg z , z
0 =Arg z=arg z+ 2kt . (1.5)
(k=0,£ 1,2, )
z=0
ag z(z+ 0) z : Arctan —)\?’
arctanJXL ( 15,16)( -t <arg En,-%<
Y _I,.
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- 0 -
0] arctan% g ‘/ i
arg z
z(x,y)
15 16
12 Arg(2-2i) Arg( -3+4i) .

Arg(2 - 2i) =arg(2 - 2i) + 2 kt

Arg( - 3+4i)=arg( - 3+4i) +2hkt

=arctan_—2+2kn

= -]l+2kn.
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15

1-cos@ +tising (0<@<m)

=25in2£g—+2isin %cos%L

=23in£[2)- sin%+icos£g-

_ZSIn'(% cos%—-(% +1 sin %%
ZZSIH%G% 2

z= X+iyz 0, arg z=0( ),

8 _ _snB _ _rdnB _ y

tan = = = =
2 1+cos® r+rcos® 4

2 2
Xty

arg z=0 ( ) = 2arctan y2 =
X+ X +y

zZ=nel, z=rnez,
L = 7 r1:r2,61=92 91=92+2kr[,k
(1 .8)
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Arg 22 =Arg z +Arg 2,
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(1 10) V4 2 Z
r2:|22| ,
0. =ag 2 ( 17).
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’ 3
1z z
_ 1.7
Oz T[E [
arg(az)=arg z (a>0) .
1 : ,
2 ;
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(1.12), (
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I 1 3.
= -— @ = - — 4 —
, n=3 ,w=e > 2|,
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17 cos 30 an 30 cos O sin®

cos30 +i sin30 = (cosB +i sinB)’
=cosB +3i cosO snO - 3cosH Sn'O - i Sn'0,
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_81
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1+z (1+2)(1-2) 1-zz+z- 72
- - - 2
1-z2 1-2@1- 2 |11- z|
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Re wzl—'l—zl7, Im w=-2M2
|1- z]| |1 - z|
(2) _ B B
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o l-zqoz 1-z)

_1+|z|2+2Rez

1+ | z|° + 2Re z

| wi =

|1- z]
110 Z 2 ,
lz+z"=]zal"+|2|"+2Re 2 |,
(12).
lz2+ 2"z 2+2 z+2

z + 2 Z+ 2

420+ 222+ 22+ 74 %

| 2P+ 2]+ 22+ 22

=l z]’+|z|”+2Re z 2
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(12).
111 |al <1,]|Db|<1,
a-b
— | <1.
1-ab
a-b2 2
’ 1- ab 1 ’ |a- bl

|1- abl®
la- b’ =|a|’ +|b|" - 2Re( ab),
|1-abl’ =1+ |a]’| b’ - 2Re( ab),
| =|1- ab|* - |a- b|’
=1+|al"|b|" - |a|" - |b]
= 1-al" 1-]|b|

2

|al <1,|bl<1, 1>0,
6.
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: ( )
(1)
112 Z 2
z=2a+t 2 - 7 (0 t<1) .
z 2 ( 19
=z, +t 2o - 7 (-0 <t< +00) .
: z 2
- Z
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19
Ing_z1 =0.
L - 4
113 =z , R
|z|= R ( 1.10(a)) .
% 0 , R

lz-2l=R ( 110(b)).

Im z=0;
Re z=0.
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110
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114 : 2,2, 73

Z+ 2+ d=znz+z2+22.

L 7 4 . 4L 72> Z
_l 2 s
3 LS
Zi-2= -7 €°,
2-2_1, 3
L - 4 2 2
2 2 1.3
L - 4 2 2

Z+2+Z=znzntzatnz.
115 U .
Z,2%, %,
ao,B,y( 1.11) .

Zy
B
o 4
Zq Z3
1.11
L - 7
a=ag—— -

Z - 7’



§2.
_  Z- 12
B=ag s~

4 -

Yy =ag

Z - %

2, - 24, s - D% 4L - 23
Z; - 4 41 - b b - I3

(1 12) .

L - 7 Z: - b
+a_rg

L - 7 Z, - 5

zarg(-1)+2kt=mt+2kt(k

O<a<m,0<B <m,0<y <m,
O<a+p +y < 3rt,

arg + arg

k=0, a+B+y =1.
8§ 2.
1.
11 | z- 2| <p
), Z , P
_L’ N)ZO,
P, N 22 - 2
12 E
E , Z E

-1,
4 - 2
L - 4
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INEEN S
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E
E, E E,
E z E
, ; Z
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M, E z | z|< M,
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D=D+C.
E E
( By E
z E z £
N(z) z E N ( 2)
% E :
, N ( 2)
z E. E
z Z
z , R
| z] < R,
, R
| z|< R,
|z = R :
| z] <1 :
| z| =
z Im z=0
Z Im z>0,
z Im z<O0 .
Re z=0
y4 Re z<0,
z Re z>0.
113
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| z| > 1,

Im z>0 .

LRI y=y,

TITTTTTTTTTT T T TTTTTTaTITTT] Y =91

0, x
1 13 114
120 114
yi<Ilm z<y, .
121 115 ( )
r<|z|]<R.
Ay
Yy
(0 X
1.15
E

d(E) =sup | 2 - 2||z E,Z E

17 x(t) y(t) t ;



§ 2.

[a,B]
x= x(t),
y=y(t), (@= t=B)
z=x(t)+iy(t) (as tsp)
z=z(t)
C, z
C ,z(a) o z(B) C
<t <B, 0 L<P,0LZ L t b, z
z b C ;
;z(a) = z(B)

z

18 AB
z=2z(t),(as t< B)
t.

a=th<ti<t< <t..<t =B,

AB :
Z:z tj (j=0’112’ 1n)a
Qn 1Qn
[, = Z |Z tj - Z tj—l | .

(1 17), I, : AB
L =sup I, AB :

19 ( ) C

z=x(t)+iy(t) (as t<p),

(1 17)



as t< B, X (t) Yy(t) , C
()
() C
1 10
: ( )
o122 J
x=x(t) =1t
SN t£0 |
y=vy(t) = t (0< t< 1)
0, t=0
A 1 1 B i0 J
n T[’ T[ ] n zml ]
+ — + —
21 22m >
A, B.
1 1 1
A B, = om+ & 2m + o+ L
2 2
S 1 ~ 1 1
2n+in 2 n+in 2(n+1)m
2 4
= o
— H Aan H
2. 2
J
: | z|= R z
X (a) Yy (a) X (B) Y (B)
z(a)=2z(B) X(a)=x(B) VY (a)=

y B) .
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| z|< R |z|>R.

11 ( ) c
C I(C) E(C) ( 116),

(1) : N
(2) 1(C) ( R
C ); < 5O
(3) E(C) ( 1(C) }ﬁﬁrﬂ
C ); O\ .
(4) P N/

1(C), E(C),
P C : 116
C
C , C C
C , C C : ,
( 1.16).
C 1(C) r,
r () 1(C) . :
111 D : D
D D
C ; : ( ) -
,19510 . 37 .
:H .Tverberg Jordan . :Bull .London Math .

Soc 1980(12),34 38. : . ,1982(12),33 35.
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E
D ( ) D
(
);
D n
D n :
C 1 ( C) : 1 .17
1 .20 : 121
D:r<|z|<R(r=20,Rg +00 )—
(r=0,R< +) (r>0,R=+m)
z  (r=0,R=+0) S
r |z =p(r<p < R),
( )
() +o (- 00)
()
-0 < + 00 -0 <A< +o0
a ( )
+ oo 00
8§ 3
1.
(
) .
112 E E z



§ 3. 29
f(z)(z E). E zZ, w
E w=1f(z)(z E).E
w= f(2) : E, w
w= f( z)
123 w=|z|,w=z, w=7
W=;J_r1 (zz2 1)
z
W=z (z¢0,n=>2 )
w=Arg z (z 0)
z
w= f(2) E
Z= X+iy,w=u+iv,
u v X,y : w= f( z)
w=u(x,y)+iv(x,y), (1 18)
u(x,y) v(x,y)
z z=re , w= f(2)
w=P(r,0)+iQ(r,0) .
w= f(2) (1 19)
u=@(x,y),v=y(x,y) . (1 20)

(1 20)



(1 19)
124 W:ZZ+2, zZ= X+iy ,w
w=xX -y +2+2xyi,
u( x,y)= X - y2+2,v(x,y):2xy.
z=ré ,w
W = r2(00326 +isin20) + 2,
P(r,0)=r’cos20 +2, Q(r,0) =r'sin20 .

(1.18) ,f(x+iy)=u+iv, w = f(

, (u, v, X,V) ,
: z w (

W, w=f(2), w=f(z)__E ()

f(E) F), w=1f(z) E F

114 f(E) F, F w, E
w= f(2z2), w=f(z) E () F(
w=f(z) E F
w=1"f(2),F w = f(2)

f(E)
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!

z= f

f(2)

117




125 W=z, z
W ?
\Y ® ’ ®
_2
P — %3
3 _ .
-2 6] 2 x' \
19) 4 u
118
(1) 2 ' '
_ T =0
(2) 0 = 3 arg z 3
_ T
arg Z—T[+3 :
(3) X -y =4.
z=x+iy=r(cosB +ising),
w=u+iv= R(cos@ +ising),
R=r",p=20,
(1) 118) z 2, o 5 .
W 4, 0 T . w
4 , u
_IT =
(2) 0="3 w ¢ =

oo [

(3) w=Z=x -Y +2xyi,

2 2
U=X'y;



f(z) a9(2)

YA

8 3 3
z X -y =4 w u=
4 .
2.
116 w= f(2) ,
Wo , e >0, o >0, 0<
|Z-Zo|<6,z E,
[ (2) - wo | <e,
f(z) E 2z Wo ,
zI| f(z)= w .
ﬁzg
Z
0 , Wo
E-
|
w=f(z)
0 X 0 g7
1.19
(1) , ;
(2) (2 9(2) E Zo ,
( , E



, Z Z Z .
f(x) Xlirpf(x),xﬁ Xo X
Xo
12 f(z)=u(x,y)+iv(x,y) E

y Zo = Xo +iYo E

limf(z)=n=a+ib

z E
lim u( x, y) = a, lim v(x,y)=Db.
(X, ¥) = (x;.¥,) (X, y) = (x5, %)
(x,y) E (xy) E

f(2) -n=u(x,y)-a+i v(x,y)-b,
(11)

lu(x,y)-als |2 -nl, (1 21

| vix,y) - bl | f(2) -nl,

| f(2) -nls lu(x,y) - al +| v(x,y) - bl . (122
(1.21) , (1 22)



§ 3.

z=r

(cosB +isinB),

H
117 w= f(2) E , %o E
: z E.
limf(z)=f z |,
£>0, &>0, |z- ] <5,z E,
| f(2)- f 2 |<e,
f(z) E =2
(1) (2 a(2) E Zo ,
( , Z ) E Z
(2) n=f(2) E pA , f(E) G,
W:g(ﬂ) G r]ozf VA , W =
g f(z) =F(z2) E Z
13 f(z)=u(x,y)+iv(x,y) E
.2 E, f(z) E Z = % +1Yo
u(x,y) v(x,y) E Xo , Yo
12 a u X,Y¥ ,b V Xo, Yo
: !im.
ﬂzo
126
_1z z
()= -7 (z£0),
f(2) ,



2 2
zZ - Z

_1 _1 (z+2)(z- 2)
(=5 == =73 P
= .12- 2rcosB- 2ri sinB
21r
=sin 20,
IziqrrJf(z):O ( 0 =0),
limf(2) =1 0="1
f(2)
z Z
f(z) Z z
%
Z— 2
zZ-2 (X,¥)> X,Yo ,
118 f( 2) E f( 2)
E
(1) E [a,B],
(1 16) [a,B] z=2z(t) .
(2) E D
ZO,Z—>Zo
D z
, w=1f(2),z
w

127 limf(z)=n, f( 2) Z



§ 3. 37

limf( z) =n,
e>0, 0 >0, O<|Z-Zo|<6,
|f(z)-n|<e,
[ t(2)] - Inl<e,
[ f(2)l <Inl+e,
, Z N 2 - % f( 2)
128 f(2) Z , f z #£0, f(2
2
f(2) Z : e>0, 0>0,
| z- 2| <8,
lf(2)- f 2 |<e .
) 8:%>01
|f 2 | |f Vi |
lt()l>lf 2 |-e=lf 2 |- S —=——> >0,
, T(2) %z O N 2
14 | (Bolzano) - ]
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i

(nZ)o =nre",(-n<9<n) :

, N-1)

(2 15)
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- x( x> 0),

xe n

-t<0(2)<m

(nz)k y4
, (2 14)
( co )
4

(2 .15) z Z=
"xer
W=z

( )
Z= % G
(" 2)
nZ
"z k
(2 14)
dr__1 z_1 2., '
OIZz—n z_nz , (2 14)
Z Z1F
G G ( )
'z G ( 2 6
® y ®
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Z- a,
Z= a

y4

z=0
w( - i)

z) + 2kt

3 iL
we= r(z)e °?3 ,k=0,1,2

z G -mt<O<T1.

arg z=0( 2
(1) K:

r(z)=1z|>0.
z
-mt<0( z) <m

z=i G ,r(i):1,e(i)="§.



%+2|q-[ T + 4 Kt
-i=ze ® =e ° , k=2
-3 ) 218
- | ag(-i)=Jm,  m<ag(-i) <3
- T ( 2 8), k=2
(2)  w.(-D(-1 G)
r(-|)=1,6(-|)=-%,
|l Tm lm L
w.(-i)=e® 2 =€ = - .
(3) ( 2 8):
To:-%<arg WO(z)<%;
G: -m<0(z)<m T1:%<arg w: (Z) <T;
T, T <arg W2(Z)<%.
| ¥ Av
® g ©
1 //
3 /,
w=(VZ), ,/
______ - (k=0,1,2) — -
O X 9] N u
G . \\
—i Wa(-1) \\
\
\\
28
2.
(1)
2 10
e'=z (z20,00) (2 16)
w z

, w=Ln z.



4

z=re’ ,w=u+iv, (2 .16)

u+iv i0

= re
u=lnr, v=0 + 2kt (2 17)
(k=0,x1, )
(2 16)
Ln z=In r+i(6 +2kt),(k=0,x1, )
Ln z =In| z| +iArg z (2 18)
=In| z| +i(arg z+2kt) .(k=0,+ 1, )
( Kk ,Ln z (In z)«)
Ln z=In z+ 2kti(k=0,£ , ) (2 19)
z(z£ 0,0 ) ,
z ) V4 ,
, an
,w=Ln z z
(2.19) Inz=In|z| +iag z Ln z
: arg z Arg z : arg z :
-i<arg z=mn  ,In z Ln z ( ) .
In z=1In]| z| +iarg z, (2 20)
(-mt<arg z=m)
2 16 a>0,
Ln a=In a+ 2kti,(k=0,+ 1, )

In a.
Ln( - a)=Ina+(2k+1)mi(k=0,x 1, );
In( - a) =In a+r1i;
In( - 1) =In1+7i=Tmi;
Ln(-1)=2k+)mi (k=0,=1, ).
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217 Ini=In]i| +Zi=L;.

2 2
lni=Zi+oumi= 222K 4
2 B 2
(k=0,x1, )
2 18 Ln(3+4i)=|n5+iarctan%+2kni.
(k=0,1, )
(2)
Ln(z z)=Lnz +Lnz,
Z 2,2% 0,0 2 21
L—1=anl-anz. ( ) ( )
2
Ln z ’ Ln z
e 1=z e 2=12,
anl+Ln22 — Zl 22;
eLn( 2122) =z 22’
Ln(zlzz) — eLn zl+ Ln 22
(1 12) (1 12) ,
(2 21)

et = g2

z =2 +2kti.

2 ki : ti .



(3) z=¢e"
zZ= reie,W:u+iv, (2 16)
r=e ,0=v.
, (2 16):
z=e",(z# 0,0)
V= W 0= v, “U= W
< vE T r=eo( 229)
}7 Av
© ® L ®
N\
o w V=T
Z=e
Yo U=,
—\ _ w=lnz -
!‘/ x O |
r=e v=-7
:u=u0
29
W v=0 V=V,
z=¢" , y =0 0 =
Vo . W O<v< w z
O<9<Vo( 29)
, z=e" w ST < V<TT 7
, (2 16) 21
Bi:(2k-Dm< v<(2k+ L), (k=0,£ 1, ) (2 22)
y4 ( 2 10) .
(2 22) (2 16) . (2.

17) , B (2 .16)
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Wi = U +iVv,

U2=U1,V2=V1+2m (k )
W, = W +i 3 B.
(2 22) ( ) W
( 2.10).
15@‘ ®
1
Ay @
3mi B,
Z=¢c
- ni B
W j —» w,=(Inz), 0 By—%
0] X (k=0,i1,'“) i B_]
—31'Ci B—Z
—5mi
2 10
, w=e , Vi
21 )
(4) w=Ln z 2 11
w = nz z z=0
G w=Ln z
We=(In 2)«=Inr(2z)+i[0(2) +2hkt] . (2 23)

(z G,k=0,£1, )

w=In z(In1=i2kt),(z G)
(k=0,+ 1, ) (2 23)’
9 , (2 23) G



d 1
d—z(ln Z) « = (z G, k=0,£1, )
Y4 2 11 W=z ,
w=Ln z z=0 = 00 , z=0
( )
v ®
37:1-_ 1’:1
@ Bl )WI(O)
w N1
= z=€ il T2
N ZO ya
!/( \\ s ©
N _— 0
¢ e ) we=(1nz), Bo—(f)o// ”
SO T X (k=0,%1,) —mi_ =
\\~._.—// /<(~11]‘
N\ (O
W
5 (G,
-37i g
2.11
: Ln(z- a) z=a Zz=o : z=
Z=o0 :
z G ,Ln(z- a)
3.
211 w=7=€ "(z£ 0,0 ;0 ) z
X =é"* (x>0,a )
1
, a n> 1 —(n
n
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Ng

n

Z.
(In 2)o Ln z
a — aan:ecx[(In z)0+21q1i]
= wee ", (k=0,% 1,
wo=6" % 7
a
(1) a
ezlnicx :eZ(kn)ni :1,
7 yi
(2) 4 )
P
2ktia _ 2 kti—
=e P,
p ) k=01112’
7= woe™  k=0,1,2,
(3) a :
Lz
, Ln z 7
). Z
z=0 Z= 0
( z )
izaziealnz:ealnz
dz dz
a QA a-1
=7z - —=02
Z
1
a n(n 1 )

)



Lne ,
2 19 i
iizeiLnl :ei ’;—i+2kni =e-’;—-2m
(k=0,2£1, )
] e?
Z_Z) 21+i
21+i _ (1+i)Ln2
:e(1+i)(ln2+2kni)
:e(ln2—2la'[)+i(ln2+2|41)
=e"" " (cosIn 2+isinin2),
(k=0,21, )
2" e"’(cosln2+isinin 2) .
4 .
w='z
z=0
0 o (
( -m<ag z<m)
G ,
Z , Z
, G
G

(1)
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w=f(2) = P(2) (2 24)

P(2) N ,
P(z)= A(z- &)t (z- an)™

a,&, ,an P(2 o;,0z2, ,0n

a, +a, + +0n,= N.

221
(@) f(z)= z(1-2); (b) f(2)= z1- 2)

(a) z 0( 1) Co
, Z n( Acgag z=21),1- 2
( Acarg(l- z)=Ac arg(z-1)=0),  f(z)=
z(1- 2) T,
Ac,arg 1(2) =5 Ac,arg z+Ac arg(1 - 2
:% 2t+0 =1 .
f( 2) é=-1,
0 f(z)= z(1- 2) 1
01 f( z)
¢ ¢ 01
C,
Acarg f(z):% Acarg z+Acarg(l - 2z)
-1 0+0 =0,

2



f(Z) 1 )
C 01 ( 2 12),

C
z—1 /
1\ t
\
\
\

\
Y

1-z \‘
212
Acarg f(z):% Acarg z+Acarg(1l- z)
1
:? Acarg Z+Acal’g(2'1)
1 -
== 2U+21 =21 .
2
i(2) e =1,
f(z)
(b) f(Z) O,]_,oo ) 2.12,

Ac arg f( 2) :% Ao g z+Ac arg(l - 2)



wn
w

_1 _n
=3 2tt0 =73,
Ac arg f(2) =% Ac arg z+Ac arg(l - 2)
_1 _an
=3 0ra =75,
Acarg f(z):% Acarg z+Acarg(l - z)
_1 _4at
=3 AEA =,
f(2) . 01w f( z)
(2 24) ,
(a') (2'24) allaZl 1am 001
(b) n a Lo P(2) ;
(c) n N ,o ' P(2) :
(d) n oy ,0z, ,On . a,
y @m , Z
a 0

w= z(z-1)(z-2)(z-3)(z-4),
0O 1,2 3
4 00

w= " z2(z-1)(z-2)(z-3)(z- 4),
0,1,2
3,4 00



(2) f( 2) f(z),
f(z)
f( 2) : Z z
C( ) z ,f(2)
Acarg f( 2),
f(z)=[f(z)[e" "
- 1 (2) |ei arg f(z,) - arg f(z) +arg f(z,)
f(z)=]f(z)|ec* " "% (2 25)
Acag f(z) ag f(z) yarg f(z) 21
f(z) , (2 25) ( ) z
. (2 25)
2 2 f(z)=  2(1- 2) 7
z=2
Z=1 .
(1) , f(z2) 0,1,00 .
z 0o 1 : ( 2
13) . z 0o 1 , 0
1( o ) : yA G ,f(z)=
i z(1- 2)
(2) z=ne:,

i0
1-z=re2,

8.(2)+0,(2)+ 2k

f (2= n(z2)n(2e 3
(z G,k=0,1,2)
z=2 ,81 20,92 =T, N =2, P =1

(2k+ 1

j(2k+ L)
f(2)= 268 7 ,k=0,1,2
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k=1 , f(2)

0.(2)+0,(2)+2n

f,(2)="1n(z)rn(2é 3

()= lil|1-i|€

1 5m .
T T+ = |

=(2)°e =
= g
2 13
2 13.
_TT =
Acag z= 2,Acarg(l z) = 4
Acarg f(z):% Acarg z+Acarg(l - 2z)
1l m_ 3t _3t
3 2 4 12°
: arg f(2) =m( 21 ) .
(2 25)
f(iy="li||1-i|€éZ = - "2&7 .
( (2.25))
(3) In f( 2),

In f(z)=In|f(2)]| +iag f(z)
=In[f(z)]| +i[arg T(2z) -ag f(z)
+targ f(z)]
In f(z)=In|f(z)|+Acarg f(2) +iarg f(z) (2 26)
C y2) Z

;arg f(z) y2)
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-1

In f(z) =In|f(z)|+iarg f(z)

(2 26) (
) .

2 23 Ln(l- Z) “ -1 i
” “ x=0 y= 17 z
z=0 z2=2

(1) Ln(1- Z) z=+1 o .
In(L- Z)=In(1- z)+In(1+ z),

z -1 +1 JIn(l- 2)

- 2i( ), In(1-2)

-1 +1 In(l- 2) 4i (
), In(1-2) .

z ( 2 14),

+1 , -1 +1

z

G ,Ln(1-2)

4
i
//
\\\\ /// —
‘_l\\\O //+l 2 x'
) z
C
2 14
z z=0 G C

z

)
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2 14,
Acarg(l - 22) =Acarg(l+ z)(1- 2)
=Acarg(l+ z) +Acarg(l - 2
=Acarg - (1+2z) +Acarg(l- 2)
=0+m =1 .
z=0 0, ,
(2 26) z=2
IN|1- Z |-, +T0i=In 3+T00 .
( ) , :
z c(c G , ) z
, Acarg z,Acarg(l - z),
z,1- z, , : Acarg f(2z),
(2 25) (2 26) .
5. 25 2.
2.7 :

(1)
w = Arctan z

tan w= z




00
OO

(2)

1 1+iz
Arctan Z_ZiLnl-iz'
w = Arcsin z
sin w= z,
Z:eiw_e-iw
2i
g" -2ize" - 1=0.
e =iz+ 1- 7.
iw=Ln(iz+ 1-7).
W:Tan(iZ+ 1- 22) :

Arcsin z:%Ln(iz+ 1- zz) :

Arccos z = Tan( z

(2 27) (2 28) (2 29)
- (2.28) (2 .29)

+i 1-2).

Z=cosh w 2= —(——

w )

w=Ln(z+

Arcosh z=Ln(z+

Z -1).
Z -1) .

(2 27)

(2 28)

(2 29)

(2 30)
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Ardnh z=Ln(z+ Z + 1), (2 31)
21, 1+ 7
Artanh z= 2Ln1_ > (2 32)
(2 30) (2.31) (2.32) : (2 30)

(2 31)

224 Arcsin 2 .

(2 28)
Arcan2 = -i Ln(2ix 3i)
= -iLn (2¢ 3)i
= - In(2 3)+%ﬂ+2hi
:%-iln(Zi 3) + 2 kit

-%+2kn-”n&i 3) .

(k=0,x 1,2, )
225 Arctan(2i) .

(2 27)
Arctan(2i) = -Lin .1
2 3
R N R -
=5 In3+m+2km

m .In3
=5 itk
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1 C:z=2z(t),t [a,B],
Z(t)20 (b [a,B]),
) C Z(t)
2 (L' Hospital) f(z) g(2)
f(x)=9(n)=0,d (%)% 0,

)
(2 _ f(=%)
leqlggz))_g(z())'
-V o+ +
3 f(2)= : \fle(;f H, o
0, z=0,
f( 2) C.-R.
4 z

(1) IzI; (2) x+y; (3) Re z; (4)—1Z

5

(1) f(z)=xy +ixy;

(2) f(z)= X +iy;

(3) f(2)=2x+3iy’;

(4) f(2) =X -3xy +i(3X y- V).
(1) z=0

(2) y= X

(3) 2xt 3y=0



(4) :
6 f( 2) D

(1) D f(z)=0;

(2) f(z) D

(3) 1f(9] D

(4 Re f(2 Imf(z) D :

7 f( 2) D : i f(2) D
8 z

(1) f(2)= x3+3x2yi - 3xy2 - y3i;

(2) f(z)=e*(xcos y- ysiny)+ie‘(ycos y+ xsin y);

(3) f(z) =sin x cosh y+i cos x sinh vy,

(4) f(z)=cos x cosh y-isn x sinhy.
(1) f(2)=37;

(2) F (2= (z+1)¢€";

(3) f(2) =cos x cosh y-isn x sinh y;

(4) (2 = - (sin x cosh y+icos % sinh y) .

9 :
f(z)=u(r,8)+iv(r,0), z=re,

u(r,0),v(r,0) (r,0) : C.-
u_1_ v _v_ 1_u
T r e 1o relron
f( 2) z
f(2) = (cosH -isn0) —‘;+i—}’
L U v
V4 r r
z ( ) 8(2

10 Z= X+1iy,
(1) 167 (2 |€ |; (3) Re(e?)

(1) e (2) exz'yz;

f( 2)



2

X

2+ 2 y
(3) e“+y cosx2+ y2 .
11

(1)§:ez; (2) sin z=sin z;

(3) cos z=cos z .

12 : z m,
(e)"=e™ .
13 :
(1) €7";(2) cos(1-1i) .
14
sin_z e’ -1

(1) lim=====1; (2) lim =1,

(3 Im S 7 -
15 ab , b# 0,
cos a+cos(a+ b) + +cos(a+ nb)
. n+1
:Sm_—zboos a+%b : (2 33)
sin
dn a+sin(a+ b)+ +sn(a+ nb)
Sin n+1b. nb
:Sm—_bgn a+— . (2 34)
2
(2.33) (2.34) . a b ,
(2 33) +i (2 .34) , “ "
16
(1) sin(i z) =isinh z; (2) cos(i z) =cosh z;

(3) sinh(iz) =isin z; (4) cosh(iz) =cos z;
(5) tan(i z) = itanh z; (6) tanh(iz) =itan z .
17

(1) cosh’ z- sinh® z=1; (2) sech® z+ tani’ z=1;

(3) cosh(z + z) =cosh zzcosh z + 9nh zsinh 2 .



18 z= x+iy,

(1) sSin z=sin x cosh y+icos x sinh v;

(2) cos z=cos x cosh y - isn x dnh y;

(3) |sin z|®>=si’ x+sinh’y;

(4) |oos z|> =cos x+sinh’y .

19 (sinh z)' =cosh z;(cosh z) =sinh z.
20 :

.

21

(3) 1+€e° =0; (4) cos z+sin z=0;
“(5) tan z=1+2i.

(1) =1+ 3i; (2)Inz=

(1) z=In2+i %+2m (k=0,+1, );

(2) z=1i; (3) (2k+1)mi,(k );
I
(4) -t kt, (k ) .
(5) z:% (2k+1)n-arctan% +7irln5,
(k=0,x1, )
21 z= rée,

Re[In( z- 1)] :%In(1+ - 2rcsB) .

22 w= z z=0 V4

w(i) = -, w( - i)

:W(-i):%(s-i):e'%i.

23 w= z z=0 V4
w(-2)= -2 ), w(i)
Lw(i) = e
24 (L+i) 3

Z(l+i)i:'mze_ %+2|n ,(kZO,i 1, );
3=e" e (k=0,x1, ).

D o

25 f(z)= Z+1 Ox A (OA=R>1)



26 : z

z=2
APY
()
y
1 f = :
(=72
f(z
Re Zf(z) >0,(] z| <1).
z
f = <1
(9 =15 | 2|
__Z
2 f(z)—l_ >
Re 1+ z+LE S0 (1 z1<1)
fl(z) ’ .
z
f(z):l_Z | z| <1
3 f( 2) z : f( 2)
"4 ( )(1) u( x,y)
Z=X+iy z
U= z+7 z2-12
2 ' 2
( )
_u_1 ~u_;-4u _u_1 S
z 2 X y 'z 2 X y
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(2) f(z)=u(x,y)+iv(x,y), u(x,y) Vv(x,y)
( ) f(2)), -
_f:_u+i_V:O
Z VA VA
: L9 , ,
4
VA , VA
5 |Im z|< |sn z|< ™7
6 |zl R,
|sin z|< cosh R, |cos z|< cosh R.
7 f(z)=7 +2z+3 | z] <1
21122!
f(z)- ()| 4
4 - o
8 f(2)=  (1- 2°(L+ 2 [-1,1] z
AY
Z==% | ik——————
\
A
.y I } P
cf(i)= 28, f(-i)= 2es' . Z
9 flz)= (1-2@+7) z o | 1 =2 X
/
=0 1. z OPA( 2. !
15) . A 2, f( 2) A -17
:f(2) = - 5i.
10 f(z)= z(1- 2) 2 15
< Rezx1l z
< Rezx 1 Z= -
, z= -1

f(-1)= 20, F(-1)= - 75l
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31 C:
z=2z(1t),(as t< B)
a= z(a) , b= 2z(B) , T( 2) C
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S
=Y

31

a b C
a=2,z, ,Z1,%=Db
C ( 31). Z.. Z(k=1,2, ,n)
C« .

S = Z f({)A z,
AZ=Z - Z.1 . )
, S J, f(z)_C( a

b J f(z) C( a b ,
Icf(z)dz
J{ _f(z)dz.
C J’ _f(2)dz C J[ _ (2
dz C
J , J J'bf(z)dz :
J a, b , C

L f( 2) C f(z) C



31 f(z)=u(x,y) +iv(Xx,yYy) C
, (g C ,

J' Cf(z)dzj' _udx - vdy+ﬁ vdx+ udy . (3.1)

Zo= X iV, X = Xe-1 =O Xy Yo - V-1 =A W,
Zk :Ek +ink, U(Ek,nk): Uk , V(Ek,nk): Vi,

S =5 M)z - ze:)

:Z (Uk+in)(AXk+iayk)
= Z (UKA Xk - VkAyk)

n

+iz (WA Y + VA X),
1

! u(x,y) v(x,y) C !

, J’ _f(2)dz , (3 1) .
(3 1) : ,
(3 1) f(z2)=u+iv
dz=dx+idy : ,
31 C a b :

A _dz=b-a (f Czdz=%(b2-a2).

1) H(2=1.S8=% (z-2z.)=b-a,

n- o

lim &=b-a,f _dz=b- a.

max|A z | -0
18 z,|
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(2) 2=z {(«= 2z,

Y1 = Zl Z1(Z - Z&-1),

Zk: Zk,

> 2= Zl Zk(Z<' Zk-l),

31, J' zdz : S
1
zl 22 ) EZl"‘Zz
1 _l i 22 _i 2 2
2 21t —zzl(zk Zk-1)—2(b a),

_1. . 2
Iczdz—z(b - a) .

C I Cdz:OI Czdz:O.
> C:
z=z(t) = x(t) +iy(t) (as t<pB),
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P
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I Cf(z)dz{ j Re{ f[ z(t)] Z (t)}dt

+ﬁ B Im{ f[z(1)] 2 ()}dt. (3 3)
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32 ( )
dz___ 2ti(n=1)
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nz 1
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0 e e do
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af ] af(z)dz:f _f(2)dz,a

e[ (f(2+g(2]dzq _H(Ddzqf _o(2)dz
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1 2
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C G
(4] _ f(2)dz= j _f(2dz.

(5)]’ Cf(z)dz‘sJ' C‘f(z)HdzH’ C‘f(z)‘ds.

|dz|
|dz| = (dx)° + (dy)" =ds.
(5) .
|5 t@onzls 5 11@oBEIs T 11@IAS .
3 2( ) C, £( 2)

M |f(2)|s M,L C

J‘ ] f(z)dz

Zl f(z k)A Zx

33 jd_zz
c Z
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1

< 2.

z=(1- t)i+ t(2+i) (0 t<1),
z=2t+i (0 t< 1),

,1980 271—272
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C 2 3.2ﬂ azl_ 5
c Z
34
dz 2nr
# .
ﬂ|z|:r(2-a)(z+a) 7 - al| (r>0,]alz r)
dz
a=0, =0 32, ; az 0,
IIZI=rZ ( )

(5),

J‘ dz . |d z|
1z1=r (Zz-a)(z+ a) _I l2l =t |z2 - aZI

j— |d z] _ air

= |- lal’] |- lal’ ]

2 . an 21
I e'edej' cosecB+J' sin6dd =0,
e (21 - 0)# 0, VY
35
1+
I Re zdz,
C( 32)
(1) O 1+ 9] 1 x
(2) o) 1 32
1 1+i
(1) O 1+i

z= (1+i)t (0g t< 1),

I _Re zdz { O {Re[(1+i)t]}(1+i)dt

= @+if tdt:% |
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(2)

1 1+

O 1
z=t (0< t 1),

z=(1-t)+(1+i)t (0< t< 1),
z=1+it (0< t< 1),
I _Re zdzi “Re tdtJj' [Re(1+it)]idt

1 o tdt+j dt %+i.

8§ 2.
1. , 3.1(2)
f(z)=2z z ,
b C ;
z 32
1
f(z)—z_ 2
z=a 4 a’
[ 92 _ iz 0,
c Z- a
C | z- a|=p>0
f(z) =Re z z
4(3)), O 1+



1825 ’
33 f(z) z D
C D ;
J' f(z)dz=0.
1851 “ f(z) D
z=x+iy, f(z) = u(x,y) +iv(x,y),
(3 1),
J’ f(z)dz:.f udx-vdy+Ji' vd x + udy,
f(2) D , Uc, Uy, W, Vy, D ,
C.-R.
U=V, U= - V.
I udx-vdy:OJ' vd x + udy =0,
J' f(z)dz=0.
C
f(2) z
f ( 2) D 11900
(Goursat) : f( z)
£ (2) L f(2)
( 2 2), f(2) D

f(2)
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34

3 3) .

f(2)

35

7.

f(z) z
( ),
I _f(2)dz=0.
D
(3)
33
f(z) z
D
I ?f(adz
% Z
C. D Z
C
34
f(z)dzj'C f(adzf ]

D
3.3,
C
D
VA
Z
c
(3)
- f(2z)dz,

2

VARR
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IC f(z)dzj' _ f(2dz.

3 4

3.5

s (
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I f(z)dz:I f(z)dz]f f(z)dzj' f(z)dz

{ f(2dz. (3 4)

; : ﬂ f(z)dz| = M, (3 4),
(k=1,2,3,4)
_M (1) —
4 ! .
M
j W f(z)dzzj,
(1)
(1)
(2)
M
J‘ ® f(z)dzz4—2_
— (0)’ (1) (2) (3) (n) ’
f( 2)d M
w f(2dz|z75.(n=0,1,2, ). (3 5)
U (1) (2) (n)
uuyu u
2,22, ,2n,
I W f(2)dz
) n
( 1.11) . (
15— ), 2o
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Z D f(z) D
Z f(2z)
€ >0, 0 =0 (¢)
0<|z- z|<9d
(CERILS B
lz- 2],
| f(2) - f()- f(z)(z- 2)|<e|z-z]|. (36)
Z 5 2(# 2),(3 6)
n (n)
(3 6) I W f(2)dz . I W dz=0,

J’ o 2dZ=0( 31 ),

I (n f(z)dzj’ (n) [f(2) - T(2)- T(2)(z- )]dz.

(37)
(36) , z (m
11(2) - f(2) - F(2)(z- 2)|<e|z- zo|<€2—9,
(n)
z,
U
Z o (3 7)
Uu u U?
J‘ (n f( Z)dZ <£'?§=5'4_n- (38)
(35) (38)
u> M
€ 7w > .
4" " 4
M<e U
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M=0
:C D
P
36(P ) 37(P
E D
/7|
A o
N/
B
36

37

38

(1) e >0,
D P( 3 8),
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ﬂcf(z)dzf  f(2)dz| <e . (3 9)
, J'Cf(z)dz , D C
P
: D G,
C G G C P
p >0( ) C
G ,C ,
G
, f(z) G , G ,
e >0, 0: =0.(¢),
z 7 G |2 - 2| <3,
1f(2) - f(2) 1<
e
: C n ,%,2%, ,Zn1
C n 0.,02, ,On,
lsmj%(oj ) <0< min(d.,p)
2,2, ,Zna P G (
D ) .P v, rz, 0:,0,, ,O, ,

J ] f(z)dz:[ f(2)dz

= ZI ~f(2)dz- ZJ f(2)dz
< Zn J‘ ) f( z)dzj' ) f(z)dz

J

3 .1(1),
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i

I _f(z)dz=1(2)(z - Z-l)f[ ~f(z)dz,

J ) f(z)dz—I f(2)dz

i i

sj [f(2) - 1(3)]dz

+ﬂ 1(2) - 1(2)]dz
<splf(2)- f(2)l@ )
+sup| f(2) - f(2)F (1 ).

Oj I 0,

sup\f(z) sup\f(z) f(2)] <5

ﬂ Gf(adzf f(2)dz

i

<z @ +n )<s(@ ),
ﬂ Cf(z)dzj' F)f(z)dz <8T- | =¢ .
(2) , (1) P,
F)f(z)dz=0,
(3 9) . f(z)dz| <g .
£ o _f(z)dz=0
E F , Inf{l Z - Zzl
|z E,z F} E F : Pp(E, F),

E F  E p(E, F)>0.
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3. 33
D f(z)
D L J'Lf(Z)dZ
Z , D y4
z z D
F(z){z f(Z)d . - (3 10)
36 f(2) D , (3 10)
F(z) D , F(2)=1(2) .
D z F(z)= f(2)
z D . z+A z.
(A z£ 0)
F(z+A z2)- F(z)_ 1¢ e ) i
= =57 . TQa )
Az-0
J'Z f({)dg
2o Z, Z
Z+A z . A Z
J’ Rl ( 39).

A

Z f(Z)dz 39
3 1(1)

Az

F(z+A 2 - F(2) _ 1 *
_A_,E Z
f(z) 4

A

Z f(z)d = f(2z2),

i .
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Z+A z

F(z+AZ)-F(ﬂ_,”Z):Ki Q- (91

Az
f(z) D : e >0,
¢
If(Z)-f(Z)I<8

‘_1£ [ f(C) - T(2)]

e 18zl _o
“laz|

F(z+A z) - F(2)
A 7 - 1(2)

 F(z+A7Z) - F
L

F(z)=1f1(z) (z D).

3.7 (1) f(2) D

QIf@NZ D (
),
F(z)j’ fQ)L (z D )
D : F’(z):f(z) (z D).
32 D f( 2)
®(2=1(z2) (z D)
®(z) f(2) ( b ( 2)
D ) .
36 37 , (3 .10) f( 2)

f(z) D (2)
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CD(Z):F(z)+C1: f(Z)d + C, (3 11)
C : ,
[®(2) - F(2)] =1f(2)- f(z)=0 (z D),
( )6(1)
®(z)- F(2=C, ®d(z2)=F(2 +C.
(3 11) z= 2, C=0(2) .
( - ) :
38 3.6 3.7 , D ( 2)
f(z) D
J’ f(Q)d =@(2)-®(z) (z 2 D). (312
36 D: -m<ag z<m , In z
f(z)=—i , f(z):iZ D , 38
J':ég-ﬂn z-In1=Inz (z D).
4 .
33 .
33 C ,D C : f( 2)
D=D+C I _f(2)dz=0.
(1) 33 33
33 : f( 2) z D
G , 33 J'Cf(z)dz:O.
(2) 33 33

33 “ f( 2) D ., C
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D ", G C : f(z)
G=G+ C . 33
J' f(z)dz=0.
C
33 :
39 C ,D C , f(z) D
, D=D+C ( : C),
J' f(z)dz=0.
C
f(z) C , J’ f(z)dz C
C
C. C, 33 I _ f(2)dz=0.
37
(1J' In(1+ z)dz (0< r<1);
| zl=r
1
(ZI C?dz,
C |1 z| =3,Re z= 0, - 3, 3i;
(3I N zd z, z 1=-1
(1) In(1+ z) -1, 00,
C ,
( ) . ,1960,70 74 . c -
M A . B A .

Cauchy

,1989(1):71 75
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| z|< r(0< r<1) 39.
I||_|m1+adz=o.
1
(2) 2 Rez2 0,z 0
id _ 1 -2+ 1 . _&
J.cz2 Z_-2+1Z si 3
(3) y4 0, o0 , | z-1| <1
, | z- 1| =1, 309,
J' zdz=0.
lz-1]=1
5.
()
33 n+1 G, G , G,
G, G
Co CllQl 1Cﬂ
n+1 D, G,G,C, ,G
, D
C=G+CG +C + +C,,
CO! Cl,C21 ,Cn.
) C )
( 3.10 n=2 ) .
3 10 D
C=GCG+C +G + +C,
n+1 : f(2z)
D=D+C

I _f(z)dz=0,
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3.10

J’C f(z)dz]( _ f(2)dz+ +j’ _ f(2)dz

=0, (3 13)
J’ . f(z)dzf . f(z)dz+ t[ _ f(2)dz. (3 14)
( )
3 10 ( ) 39.
3 10 39
n+1 D ( )
Lo, L, Lo, , L, . G,C,G, ,GC
D , D
( 310 n=2 ), r
M, . 309,

Ir f(z)dz:OI ~ f(2dz=0,

LO y Ll ) ] Ln

(3)
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I _f(2)dz=0.
(3 13) (3 14) .
38 a C ,
dz _ 2t (n=1),
Ic(baf_o (n# 1, ).
a c, C C
(3 14)

d d
I c (z-za)”j’ c (z-Za)”’

32
38 32
39 ( )
J’lgj-anz (z G z£20,0) .
=1 y4
G
L ; (
). 3.1, 36 38
d d d
I L%i ABCbDAi-j’ ADaCEA iﬂ- AEF Zj_
f.01.T Ak
€ &, & e
| I - T
=ln z+2 i b s
(n=0,x1, )

=Ln z. 311
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g
F(z)j’lZ
Ln z
G
309,
1 *
J-1Z2Cz’ ( )
z G 20,0 ,G L
=1 z
1) L z=0, 1 L
Z
z=0 D 38
21 _ lz_ l
1Z—2dZ—-Z = Z+l (z D)
2) Y G : y : z y
(*)
[ Lo =0 ( 38
v C
3) 1) 2) : 311,
J’lz%dz:-izﬂ (z G)
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f(z):Elj Cf—(%—)zdz (z D). (3 15)

y4 D, F(C)
()
- 2 ( D y4
zZ , p>0
Yo Yo
( 312). F=C+y,
F(C), 310 (3.13) , 312
f(2) f(2)
Ic -zdzj'ypi-zdz'
( ’ C yP)
Yo P
ﬁl)iﬂrj\' ’ Zf—@—l_zdizmif(z), (3 16)
(3 15)
f(2) ¢ g A
32),
f¢) - () _&K
ﬂypz_zdz-znuf(z) :J ypa_zdi- f(zI oz
f(Z) - f
=] . (Zg_z(z)dz‘. (3 17)

f(C) , € >0, >0, |1C - z|
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=p <6’

11@) - f(D1<5 @ W),
3.2 (3.17) é%;
(3 16) . .
34 311

1o Q)
iﬁf LTop%(z 0

1 f(2)
5&[ 7. ¢ ?

(3 15)
ICZJL)_CZ 2tif(z) (z D),

(
310 C 2]1=2, (3 15) .
Z
4 4_
| o oaan® T T«

o |A

= 2t

9-7° 1,
_
fQ)= g7 4.
(3 15)
(315) (3 15) ,Z =z

FQ) =70

- AIp =€,

(3 15)'

C
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3 11 :

312 f(2z2) I - |<R
I - z|< R

2n

f(2)=5f , T(%+ R )do,

f(2) % Iy ,
zytRe
C I - | = R(
3 13), )
{-2=Re, 0<op< 2,
— io
Z—zo+_Re, 5 >
& =iRe’do,
(3 15) 313
1 f(Q)
f(z)=5f 7. 7%
_ 1 ™ f(z + RE)iRE do
_ﬁo Re’
2-[ .
:El;fo f( 2+ Re’ )dp .
311 f(2z) | z|< R
a>o, | z]| = R
| f(2) > a,
| £(0)] < a,
| z| < R f(2) :
f(z) |z[<R , f( 2)
| z] = R
F(z)= 1

f(2)
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| z]< R
FO) =3 | F(RE)d0,
F(O) 1= Trioy] 5
| FORE) | = mar < 5
—;<|F(0)|=‘%0 F(RE")d s%%-?n
-1
-1
C lz<R f(2)
2. (3 15)
z
f(2=5f C(z_f(.%?dz (z D), (3 18)
(D=3  otr® (z D).
3 13 311 . (2 D
(n) _ Ng _f(g_)_
f (z)_ﬁc(z_z)mdz (z D). (319
(n=1,2, )
f(2)
n=1 : (3 .18)

(3 15), (A zz 0)
f(z+A2) - f(2) _ 1 % _ Q)

f
— d¢ -
Az Az Z'Z'AZZ



124

SR

CZ'Z

1 f(2)
"2 T zanC %

f(Z)dC ! f(Z)dC
% c(C-2z2-A2)(C- 2) Ef c (- 2)

N|Q_

A 2 (0)
-1 1 >d
";[c(z-z-AzMz-z) Z‘ (3 20)
|A z] € .
C,f(Z)|]s M. d z C
I C ,|Z-z|2 d>0( 33 ).
pzi<d, ( 314)[2-z-Bzj2 |7 7 -|az|>
(3 20)
A z| _MI
21 d p’
? d
I C
€,
|A z| <& = min Ed’nl\?lgls
(3 18) 3.14
n= k (319) n=k+1 (3 19)

f9Cz+02z) - 19(2) 1 | fe)d
Az ‘Az;‘c(Z-Z-AZ)”

(Z Z)k+1
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Az-0
(k+1) ¢ f(¢)
T T
n=1
(3 19)
f({) _ AT (n _
J'C(Z_Z)mldi—n!f”(z) (z D,n=1,2, ).
(3 19)
(1) (3 .19) :
(2) (319) (319) ,l=z F(Z) C
F(C) C
312
oS Z
[ iz
C [
cos Z z : (3.19)
f(z)=cos z,
J' ¢ 2 dz=@(cos z)"| = -Tmicosi= _T[e'1+ei
c(z-i) 2 > -
3.14 f(2z) z D
f(z) D : D
% D : 3 .13 Z
( D ), f(2)
, 1(2) Z : 2
f(z) D
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) D
: f( 2)
D 2 .5,
315 f(z)=u(x,y)+iv(Xx,yVy) D

(1) w,u,v,v, D

(2) u(x,y),v(x,y) D C.-R.

2 5.
(2) 2.1 : :
f(2) , T (2) D : Uc, Uy,
Vi, Vy D
3. (Liouville) 3.13
f(2) D ,a D
a v:|C - a]| = R, % K D,
|7 (a) |« LEMIR)
R ,
M(R) = max |f(2)] n=1,2,
313 K
| £ (a)| = #yﬁg‘)—di‘ ”'MmR
_n! M(R)
= :
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1e1
cos z sSin z
f(2)
| £( 2) | M, ,
R, M(R)s M. n=1
M
1T (a)ls &
R : R- + o0, f(a)=0. a z
, () z : ()
6(1) f(2)
z , N
p()=aZ+az  + +a (az0)
, P(2) z : p(z) z
1 z
'p(2)
1
p( 2)
li =i ! +ﬁ+ +i = 0
limp(2) =lim 2 &+ ;T
: 1
I =0,
% p( 2)
R | z| > R ‘ 1 <1
’ "1 p(2) '
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o( 2) | z]< R
1
‘p(z) = MO )
Z
1
‘p(z) <Ml
1 1
p(2) p( 2)
p( 2)
4 . (Morera) (
3 3)
3 16 f( z) D D
C,
Icf(z)dz:o,
f(z) D
37
F(z){ f(Q)& (2 D)
D F’(z)—f(z)(z D) . F( 2
F (2) f(z) D
317 f( 2) G
(1) f(z) G :
(2) C, C G
Icf(z)dz:O.



§ 3.

33
G Z Ki|C - 2| <p
3 .16, p : f( z) K
Z , Z G ., f(z) G
313 f(z) ,
Re f(z)< M
M , f(z)
F(z)=e'”, F(2) . z
F(n)]=6"" <&",
: F(2) : f(2)
314 f(2) , N
lim= 2 =0
, T( 2) n-1 :
( )6(1) 3 8,
z, V" (2) =0.
L
e >0, R>0, | z| > R
| f(2)] <e|z|" .
Z Z. Z , r
C, C={z||z]= R}

¢ C [C]>R,
[ T@Q)I<ell|'se(lz]+n)".

n l n
17 (D)< =zl + 1)

n

=n¢ 1+J—fl < nke .

r>|z| .
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€ >0
f”(2) =0.
£( 2) n-1
‘5.
34 C (
() ¢ ,
o 7o (2 0
W f % Uzl ;
1
@) 5f 5%zl )
@ 5 .z [-11]).
(O (2);(2) (3) ) .
3 .13 , 3 .13
313 f(Z) C(

¢
F(2z) z C D
F”(z):% C(Z—f(gz—))mdz
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8§ 4.
, : D
, D u \Y;
u \Y;
u+iv D
f(z)=u+iv D : C.-R
_u__v _u_ _V
x y'y X
2 2 2 2
u_ \Y; u_ \Y;
X2 Xy’ y2 yX’
‘v ‘v
D , , D
Xy y X
u. *u
>+ > =0,
y
v v
y D 2+ 2=01
X y
u v D (Laplace)
Au=0, Av=0.
2 2
AE 2+ 2 )
X
35 H( X, Y) D
, AH=0, H( X, y)
36 D C.-R.
_u__v _u_ _Vv
X y' y X
u,v ,V u D
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3 18 f(z)=u(x,y)+iv(x,y) D ,

D v(x,y) u( x, y)
, u, v
D , u+iv D
u+iv D . u Vv C.-R
\Y, u . :
u( x, y)( v( X,Y)) v(x,y)(
u(x,y)) .
D , u( X, y) D
, u(x,y) D :
‘u. *u
7z T 2—0-
X y
.~ — ,
y' X
_u _u

, -—dx+—dy :
u u,
- —dx+—dy=dv(Xx,Yy), (3 21)
y X
o Yix+—dy+ C 3 22
voen g - Tdxr=dyrCo o (322)
(Xo,yo) D 1(X1 y) D ’C
(3 22) X,y ,
_v_ _u _v__u
X y’ y X
C.-R. ) 3 15 u+iv D

319 u( x, y) D ,
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(3 22) v( X,Y), u+iv=f(z) D
(1) D . (3.22)
(X, ¥o) (0,0); D
(3 22) :
(2) (3 22) : (3 21):
dv(x,y) = vedx+ wdy - wdx+ udy,
(3)
C.-R.
du( x,y)=udx+ udy vyd X - vedy,
u(x,y)j' ix’y) ) v,dx - v,dy+ C. (3 22)
(1 v u u, v
?
(2) vV u , v
?
(1) :
f(z)=u(x,y) +iv(x,y) D
D v(x,y) u(x,y)
(2) f(2)
u( x, y)( v(Xx,y)), v(x,y)(
u( x,v)) C.-R. : f(z)=u+
IV
315 u(x,y)=x3—3xy2 z

u( x,y) f( 2), f(0) =i .



z
ux=3x2-3y2,uy: - 6 XYy,
Ui =6 X, Uy = - 6X .
u(x,y) z
C.-R.
(dv = wdx+ v dy - udx+ udy)
(3 22) (x.0)

v( X,Y) 3.15‘[' 6xydx+(3x2 —3y2)dy

(0,0)

(x,y)

6 xyd x + (3x2 - 3y2)dy+ C

(x,0)

y
1 (3X -3y )dy+ C
=3x2y- y3+ C,
f(z)= u+iv= X -3xy +i(83Xy-y + C)
=(x+iy) +iC=Z +iC .

f(0)=i, C=1, f(z)=7Z+i.
C.-R.
v =u =3X -3y,
(dv= v,dx+ v,dy R udx+ udy)

vj’ udy+@( x)

v=3Xy-y +@ (X)),
Ay

(x,»)

0 T (0 x

3.15
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C.-R.
Vi =6XYy+@ (X)= - u =6Xxy,
@' (x) =0, ¢(x)=C,
v(x,y)=3xXy-y+C.
C.-R.
3 16 v(x,y):arctan-)\(‘/(x>0) z
; f(2) .
-
V, = X2=-2—+L2 (x>0),
TR AR
X
1
X X
Vy = 2 — 2 2 (X>O)1
1+ XY
X
VXX_AL __—ZXL (X>O),

= 2 2.2, Vyy — 2 22
(X+y) "7 (X+Y)
Vi + iy =0 (x>0),

: V(X Y)
u(x, 9 o uxdx+tu(y)c"R] v dx +P(y)

{ Frdx+u(y) =5(x +¥) +u(y),

X +y
y
i_ZL ' — c.-R. _ __L
2Xery2+qJ(y)—uy Vx—X2+y2,
W (y) =0, w(y) = C( ),

u(x,y)=%ln(x2+y2)+C,
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§5.

£( 2) =%In( X+ y) + C+iarctan-)%( x > 0)

=In| z| +iarg z+ C

=ln z+ C,
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( 11)

3 16 3 17
1. z D
v(z)= p+ qi z D : p=p(x,Yy), =
q( X, y) v(2)
A . B
v( 317) ( ) .
ds, n : y ( A B

) - , ds vods(Vva Vv N
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) 1) )
vnds
ds dz=dx+idy . v .n
V.ds
_dx, . dy
ds d
n T s
Y 2
= 'T;_i = - :QY-'d—X
n=e 2t T =9s I ge
vV n
_ _ . dy dX
Vo =V M= Pl g
N Y ;
d X
I\sz' pds qd_s dszj' - qdx + pdy .
y H ] ry
I’yj' y pd—s+qay dsj’ pdx+ qdy.
l\l/’ rV

Fy+iNi[ de+qdy+ﬁ - qdx+ pdy

{ , (p-d)(dx+idy),

r, +i|\l,1 v(z)dz .
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v( 2)
D
, D C,
D : C C ,
C Ne =0 . Nc >
0; Ne <O0( 3.18).
c
¢ C
N.=0 N.>0 N_.<0
3 18
=0, C D .
1 D 1)
J' v(z)dz=0,
3 .17, v( 2)
D
v(z). f(2)
: f(z) D
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f(z)=v(z).
v( 2)
f(z)j' v( 2)dz
; Z % D. D , T(2)
D , T(2)
f(z)=0(x,y) +ip(x,y)
¢ (x,Y)
@ (x,y)=k(k ) w(x,y)
w(x,y)=k(k )

o+ =Tf(2)=v(2z)=p-iq,

P=¢x=y,, g=-Yx=0¢, . (C.-R)
z( X, )
dx _dy
P q
Pxdx+,dy=0.
W(x,y) Wyx = Wy
dp (x,y)=0,
w(x,y)=KkK
( 2 10) .
317

f(z)=az
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a> 0,

W(x,y)= ay,

o (X,y)= ax,

y=GC (G, G

320

\y

-

9

31

IIIIO

R

-

2

2

:Z’
:X-y’

f( 2)

P(X,Y)

18

3

W(x,y)=2xy,

3 20) .

(

v(iz)=Tf(z)=2z.

1+i

y+ix2)dz,

(x-
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:-%(14).

1

2 [, 12dz CON¢) (3)

(1) 1, (2) 2; (3) 2.

3 :
(1)Jf C(x2+iy2)dzs2, C S0
(Z)ﬁ C(x2+iy2)dZST[, C S0
4 : : C |z|=1.
dz . dz .
(1.I c 00s z’ (ZI cZ+2z+2
(3I C#dzzﬂs; (4I _ 7008 Zdz.
5 :(1I :z+i(z+2)2dz; (ZI ?m COS?ZdZ.
T (1) é (2) 2 cosh 1 .
6
I:Ta(zf +8z+1)dz
0 2ta
x=a®-snb),y=a(l-cosb).
7 ( ) f(2),9(2) D ,apB D
B B
J’q f(Z)g(Z)dZ=[f(Z)g(Z)]f-Ia 9(2) f (2)dz.
dz
8 [ . zv2
"1+200s0 ., _
_[05+4ooseOB_0’
C | z| =1 .

9 (C:|z]=2)
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222 z+1 _ z+1
(1I c - dz (I (z 1)
(1) 4mi; (2) 6T .
10 :
SinZZ -
ch 7792 (i=1.2,3)
1 1

(1) C1:|z+1|:?; (2) C2:|Z_1|:7; 3) G:|z|=2
(1) 72m; (2) 72ni; (3) 2.
11
Ice—zdz(C:|z|=1),
J'Zemseoos(s'ne)cﬁ:n.

12 C x2+y2=3,f(z):_|’cg%%ldz, F(1+i) .

P)=X*+T +1.

(at( - 6+13i) .

13 C:z=z(t)(as t< B) D , T( 2)

f(z2)20 ,w=f(2) C r, r
C - C Z(t)z 0 as<

M w= f[ z(t)]

14

J'rdb(w)dwi' LOLf(D]f (2)dz.

d(w) T

15 f(z2) z . 1 f(2)]

f( z)

16 f(z2)=u+iv.

f(z2)20 . 6 .11 .
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(1) u= X + xy- ¥,
(2) u=€(xcosy- ysny),
__ v
(3) V_x2+y2’
(1) f(2) = 1-% z2+2L;
(3) f()=3 -=.
17 f( 2) D

fi)y= -1

f(0) = 0;

f(2)=0.

(2) f(2)=ze;

+i;

Ty @I =4r@r.

18 t(2) D ¥ (2)% 0,

19 ky kx(k>0
f(2)=-8z,

20 f(2)= >,

(1) Cilz-1]==; (2) Gl z+1] =2

(3) G:|z =3,

:(1) 0,0; (2) 0,0; (3) 0;0.

( )

1 f(z) 0<]|z|<1 ,

<1 . f(2 z=0
1

2 1 1 IC Zdz

(1) 1 (2) z

3

ﬁ 2+ Li.0< e,
c z-1

In| £ (2) |

),

C:lz|=r,0<r
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C lz-1]=2.
4 a, b ,S=o0 +it(c>0) ,
|e® - €®|< |s||b- a|d™®P e,
5 D= z||ag z|<% |z| =1
z, D C 0 z,
dz Tt

R =—.

_Fcl+z2 4
6

I (|z| -€sn z)dz
C

: C | z| = a>0.
7 (1 (2 lz|=s1 1 (2) r(0<r<1),

I||: f(z)dz=0,
I - f( z)dz=0.

8 (1 f(z) |z-2|>rn>0 1 (2) M(r)
K:lz-z|=r>ro ;(3)rli[nmrM(r):O.

Iirl' f(z)dz=0 .
ro + K

9
(1) f(2) z=a :
. f(2) a ]
Irljf - adz-Z'[lf(a),
(2) f(2) z=0 :
Uj :T f(re’)dd =21 f(0) .
10 f(2 |z|<1 , | z|< 1 ,

1 1 dz
EI _ 22 z+— (27

| f(2) |

f(0) =1,
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2+ ' (0) .
11 f(2) D ,C D a, b
A A1, & C
f(b) - f(a)=A(b-a)f () .
12 | z| <1 f(2

1
(218 77777 -

n

| £M(0) ] (n+1) ! 1+in <e(n+1) 1,

(n=1,2, ).
C:|z|:nrl,
13 | zl< 1 f(2 , | f(2)|=1,
: | f(0)|< 1.
f(z)=1z
14 f(2 , R, M
>R [f(2)|>M z
15 U+ v=(x- Y)(X +4xy+y) -2(x+y),
f(z)=u+iv.
f(z)= 2 -2z+k (k ) .
16 (1) D ,
fi(z) f.(z D : D=D+ C ;1 (3)

f,(2), : D ,fi(z2)= f,(2) .

C;(2)
C, fi(2) =



)
8 1.
1.
41
Z Oh =01 +0, + +0,+ (4 .1)
1
S =0, +0, +  +0,( ) . s(n=1,2, )

S ,

lims = s,

n- o

(4 1) S, s (4 1) :
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$=Z On;
1

s(n=1,2, ) : (4 .1)
41 o, =a. +ib.(n=1,2, ),a b
(4 1) s=a+ib(a, b )

0

z an i b, a b.
sn:zn ak,Aq:Zn ak,Bn:Zn b,

s = A, +iB, (n=1,2, ),
( )17
Iims = a+ib

n- o

g A
_ 1 _ 1
21 n ! Zl 2" !
( ( )18)
42 (4 1)

N(E), n>N p
|an+1+an+2 + +an+p|<8 .
’ pzl, |an+1|<€,

lima, =0 .

n- o

(4 1) :
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|an+1 +an+2 +

43 (4 1)

+Gn+p|S |Gn+1|+ |Gn+2|+
4 2, Z (o
1
Z O
1

44 (1)
: (2)

S=0, +0, + +0a,+
s=a,+d,+ +a .+ )
a', a, a's;

a. | a.a', a.a' o.0';

o, | a.a'; a.a , a,a';

o; | asa'; asa , asa';

a.a'; + (0.0, +0.0" ;) + +

Y lanl
1

[Otns s |,
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+ (0.0 +00 .1+ +00';) +

(<4 n
=Z Z o’ (ne1y -k
1 1

S
2.
43
fi(z)+ .(2)+ +f.(2)+ (4 2)
E : E f(z),
E z, (4.2) f(2z), f(z)
(4 2)
f(z)=z1 fa(2) .
€ - N X
€ >0, z E, N= N(e, 2),
n> N

| 1(2) - s (2] <e,

s(z)= Zl f(2) .

N= N(, 2), : €,
z E. N= N(g) z E,
4 4 (4 .2), E
f(2z2), g >0, N= N(g), n> N
z E
| f(2) - s(2)]<e,
(42) E f( z) .
(1) 4 4, (4 2) E
f(2) , Z N, n> N

1 1(2) - s(2)] <¢ S | 1( 2)
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-s(2)]=s Pn(z)(sz) Qn, "e >0, Q.<e N .
(2) : 4 A
4 A :
4 4 Z f. ( 2) E f(z) v
€0 >0, N>0,v N > N ,
» E, [f(n)-s(2)|z¢€o0.
45 ( ) (4 2) E
: e >0, N= N(),
n>N , z E,

| foer(2)+ + foop(2)]<e (p=1,2, ).

45 % f. ( 2) E v €0
>0, N, v No , N > N, z E
Po,
|fno+l(20)+fno+2(20)+ +fno+p0(20)|280.
M.(n=1,2, ), z E,
|f.(2)|€ Ma(n=1,2, ),

[ 00

Z M, : Z fo ( 2) E

[ (=)

Zl M, Zl f. (2)
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4 2
2 n
1+ z+ z + + z +

| z|< r(r<1)

[

46 Z f. (2) E :
f(2)),
f(Z)=Zl fa (2)
E
47 z‘” f. (2) C :
C f(2), C
Icf(z)dzzzj' i (2)dz
45 f.(2)(n=1,2, ) D
(42) D , D
48 (4 2) K:lz- al]< R
p, p <R, (4 2) K|z
- alsp
Ko K
K F, K
Ko
D D
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|z| <1 : : 4 2
| z] <1
3.
49 (1) fn(z) (n=1,2, ) D
,(2)21 fu(z) D f(z2):

[

f(z)= Zl fn(2),
(1) f( 2) D

[

(2)ﬁm(a::zlfW(z) (z D,p=1,2, ).

(1) Z D : p >0, K:| z-
%|sp b . C Kilz- z|<p

I _fa(2z)dz=0,n=1,2,

[

z f.(z) K , f(2)
46 f(z) K , 47
I _f(2)dz= iJ’ _f(2)dz=0,
f( 2) K , f(2) %
Z , f( 2) D
(2) Z D , p >0, K:i|lz- z|

<p D ,K F:lz-z|=p. 3 .12



f(¢)
f(p)(zo):‘zg_j . (Z _ Zo)p 1dZ

£ @) (p=1,2, ),
(p) _ q n
¢ (zo)—% Ty
(2)
f(1) fa (0)
C-2)" 2@ -2)"
) 4 7
f(2) f(Z)
| @ ay%= Zf )y
p!
2T

f“’)(zo)=zl .7 (2) (p=1,2, ).
(1)

(2)
f”(z) D 7 ( 2)

(p=1,2, : ) .

i\/l g

§2.

ZOq(z-a)"=co+q(z-a)+cz(z-a)2+ (4 3)

G,G, G, a
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( ¢ Z)
Z GZ=G+Gz+GZ +
0
, (Abel)
4 10 (4 3) z (£ a) )
Kilz-al<|z- a|( a , z )
K . - "
z Zoa(z a)

) y M,
lc(z-a)"|<s M (n=0,1,2, ),

n n
ng _ n Z- a Z- a
IQ(z-a)l—‘q(zl a) ~ - a —le-a :
|z- al<|z - al,
- Y z- al"
Zo Z - a

i a(z- a)" K

, K Ke:lz- alsp(0<p<]|z - al)
n Z'an Q "
| (z- a) |Sle-a‘M|zl-a| ,

[

Y G(z- a) K

© n

I
2o M 1z -al
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4 11 (4 3) z(# a)
y2
(4 3) ,Z=a LZE
a .,
7z a, G(z- a)'
ZO ( )
43
1+ z+2 7+ +n'7+
z#0 | )
Z, G(z- a)'
ZO ( )
4 4
2 n
1+z+£2+ +£n+ ,
n
z n 2| L
1 1 n 21
‘i . L7
, 7 > z
z# a, G(z - a)"
A ZO (z ) (
4 10 : |z-al=1]z - a
] 221 Cn Z 'a.n
) ZO (z )
|z - a|l=z |z - al; 4 11 |z- al=| 2z
- a| )
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R R |z- a] <R
|z- a|]= R ’
Rzo; , R:+oo, .
1 (1)
1 (2) : ; (3)
2 R - (Hadamard)
4 12 z-a)
LI
G+1
lim c =1, ( (D Alembert))
im " lel=1.( )
im " Jel=1.( -
S G(z-a)"
0
il, 120, 1# +oo
R= O, |:+oo; (44)
+c, 1=0
45
-
(1) Zl 2
2
R = lim = fim 21—
n- +1 N o n
-
2) > Wi
1
. !
1= lim _!iwlLll)_z
n!
,1985 . g1

JB
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R= +o
(3) Z n!' z
= lim —‘:I n+l)'_ L
n- e o n!
R=0
(4) 1+Z+Z +27+
n c =1, G =0. ,
"la]=1 O, {"lal} 0o 1, =1,
=1.
(5) Zw nt z'
C=nlLlim’ |g|=o
R=0
3.
413 (1)
f(z):z G(z-a) (4 5)
f(2) K:]z- al] < R(0< RS + o)
(2) K, (4 5) ,
f7(2=p! g+ (p+1)p 26G..(z- a)+
+n(n-1) (n-p+l)a(z-a" "+ .
(p=1,2, ) (4 6)
,(4 6) (45) R ( ( )3).

(p)
(3) cp:%!—al(p:oi,z, ). (4 7)

(4 10),
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<)

ZO G(z- a)
K:ilz-al|< R(0< RS + o)
f(z), a(z-a)"(n=0,1,2, ) z
( 4.9), (1) (2)
p (p=1,2, ) , (4 6) .

(4 6) zZ= a,

f(p)
o =18 (po12

p!
6 =f(a)=f"(a), (47) .
(1) ; (4 5) K C
, (4 5) R (
( )3).
(2) (4 5) a
8§ 3. (Taylor)
1. 4 13(1)
414 ( ) f(2) D ,a D,
K:]z- a|< R D, f(z) K
f(z):z a(z-a)", (4 8)
_ f(Z) _ " (a)
q_ﬁrp e = (4 9)

( ) ( )
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(Fre:|¢ - al=p,0<p<R; n=0,1,2, )

=Y v (Jul<y) (4 10)

z K : Moo|C - al=p(0

41

1 £(2)
f(z)—ﬁ Nt 8

p

f({)

7.2 z- a
f({) _ f({) _ () 1
Z-Z_Z-a-(z-a)_Z-ail z-a’ (4 11)

-7 a
¢ Ty
Z a‘_lz—al<1
(-a P ’
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3 .13

f(z)= ZO ¢.(z-a)'(z K:|lz-a|<R).

4 13(3),
(n)
¢,=—A_ (n-01,2 ),

n!
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(4 8) R.

46 (4 28) f(2) a ,(4°9)
(4 8) ,
4 13(1) 4 14
4 15 f(2) D
D a Z- a

f(zg |z-a|l<R

G
max | f( z) |
|cn|s'z'a""pn (0<p< R,Nn=0,1,2, ).
2.
(4 8) z To( 4121)
M f( 2) D ,
(4 8) a : a f(2)
4 16 Z G(z-a)’
f(z):i a(z-a)" (z K:|z-al<R)),
f(2) C:lz-al=R :
F(2) : | z- al| < R f(2z)
F(2) : C
® , O F(2

O C

. f(2)
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G, p>0 cC G (
33 ). , F( 2 K K:|lz- al]< R+p
F(2z) K' | z- a
<R F(2)= f(2), z= a
’ Z Cﬂ(z-a)n F(Z) ’
R+p,
, R
f(2) a b f(2) a
, Ib-al=R f(z) a
S G(z-a)’
0
(1) ’
f(2)==2+5+%+ +5+ |
1 2 3 n
4 5(1) R=1>0, | z| =1
_ |2l L
2. W72 W
’ 2w 7=
: % | z|< 1
. N
A S 4 Z
f(Z)—1+2+3+ + n + (|Z|<1),
7 1 ,f(2) + 00 | z=1
f(2)



(2)
2 2) .

| x| <1
12:1_X2+X4_ X6+ ’
1+ X
X )
1 —
’ 2 Y4 y Z=
1+ 7
1.
(1)
D (
( ) :
(4 9) ; :
f(z) =" z , z=0
7)1
G n! n! (n=0,1,2, ),
z z
1+z+2—!+ +n_!+ (]z] < +o)
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4 7 e

éz iw (-iz)"
ZZO n!

Cos Z = ZZ '

ws 2= 5 LA (1< v,

© n 2n+1

y4

dn z= ZO ((21n)+1)! (] z] < +0) .
: cos z 9n
4 8 Ln(l+ 2) Zz= -1, ,
-1 00 G(
| z] <1) ,Ln(1+ 2)
fo(z) =(In(1+ 2))o z
__1 n _ n-1(n-1)1
h(D=r7 620" T
f(()n) 0 ) n-1
_ n(!)z( 13 (n=1.2, ),
fo(z)=(In(1+ 2))o : 1+ z
(In(1+ 2))o : fo (0) =0
(mu+an=z~§+§- f-n R
(I z] <1)
Ln(l+ 2)
(In(1+z))k—2km+z-£22 %3+ +(-1)“‘1%n

(] z| <1; k=0, 1,2, )
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49
(1+2)°=¢™"7 (a ),
1,0, (1+2)° |z|<1
g(z) = (1+ 2)" =" 7%
z=0 . )
g(z)=€°"" (f(2) [In(1+ 2)]0),

g(z)=€""" af,(2),

, 1 1 1
fO ( Z) - 1 + 7z - e[|n(1+ Z)]O - efo( 2) !
g(z):ae((x-l)fo(z) ’

1
fo(2) = o7

a - n) fo(z)

g”(2z)=a(a-1) (a- n+l)e ,

d”(0) _a(a-1) (a- n+1)

9(0) =1, n! n! ’
(n=1,2, )
(1+ z)
1+ 2 =1razv G 7
Lo -1) n(?'”+1)z“+ | (4 13)
(I z] <1)
e _
410 T z=0
< | z| <1 : | z| <1
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2 3
z z  z
e=1+z+2—!+3—!+ (| z] < +),
L o c1v 2+ 72474 (| z| <1)
1-2z ’
ez _ 1 1 i 2
1- Z—1+ 1+7= z+ 1+ 1 t5 Z
1 1 1
Yttt 2
, 4 4
4 11 j ==
z+i 1==——
2
Z+1i - oo, | z| <1
1
. . . Z °
Z+1 =1 1+f:|1+T
11,
_1+i 1 z, 2 2 z°
=, Ity T o Pt
:1—;' 1-L22+§zz+ (] z] <1),
| z| <1
._1+i L 1 3 (2n'3).nn
2l =" 1520 T2 2 (2n)
4 12 e’cos z e€'sin z Z

z .. z iz
e (cos z+isin z) =e e

L
(1+i)z 2ed4 z
= =e

( 2)ne%i Zn
n!

=1+ 2¢ z+ i
2
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N

z .. 2e
e (cos z-isin z) =e

_ e T (2)e T 7
=1+ 2e 4 z+ .
2.  nl
2
- (2)”cosE
’ =1+ 2008 =7+ 47
e oS z 7 Z -
o (2)“005%
:2+Z2 o | z| < + o0 ;
2i
o (2)”S|nm
€sn z= 2sntz+ 4 7
4 Zz n!
- (2)”S|n%
=1+ Z,|lz|< +o
ZZ N | z]
4 13
yi
f(z):z+2
z-1 ,
__Z _ 2 _. 2
H(2)=77571- z+2_1'(z-1)+3
_ . 2 1 . 2< e 1
=1-3 71t 320( 1)
1+
3
1 2o A e
=2 321 s (z-1)"(1z-1]<3) .
T 414 4
1. 2.7 Z G

(1) G=G.1+ G2(n=2);
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1 1+¢
= ~ d
20 r 7"(1-7 - )Z
L+
1 1-7 -C°
e Zm dd
1

ﬁ r Z,%dz=c1 (n=2) .

1=(1- z- ZZ)(G)+QZ+C222+

+czZ +

=g +ac|lz+e| Z+ +oc
-Gl -G - G-

- G - G2

n-2 n-1
+G.22 + G.1 2

)

6=1,¢ -%=0,¢c-c-6=0,

n

Z +

, G - G.1-G..=0,

oG=1l,a=0=1,6=G6 + G =2,

G=G.1+GC.>

_ 1 _
(2)0)_1_2_22 2:0_11

1 ' _ 1+27z

(n= 2) .

Cl:

1-2-7 .0 T (1-2-72)

(1) G=G+G=1+1=2,
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G=20C +C1=2+1:3,
G=G +Gg=3+2=5,

%=1+z+222+323+524+
1-2z-72
(3) 1- z- 7 =0 zzﬁ,
2
5-1
| z| < 5 -
, | z| <1
f(z)
f(z)=z+a Z+ ,|z|<1,
f(0)=0, f (0) =1, a
8§ 4 .
n n
1 H f)
? )
f(2) f(2)=0
1.
47 f( 2) D a ,
a f(2)
|z- al]< R f(2z) :
f( 2) a , ,

m( m= 1),
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f(a)=f(a)= =f""(a)=0, f™(a)z0,
m a , a f(z) m
m=1 ,a f( 2)
4 17 f(z) a m
f(2)=(z- a)"¢(2), (4 14)
o (2) a |z- a|]< R , ¢(a)z0.
(m+l)
f(z)—J—l(z a)m+m§)—%(z a)"" +
m (m 1)
o(2)=L8 B (7 a4
(4 14) .
(4 14) m a f( 2)
4 15
f(z)=2z-sin z
z=0 :
f(z) z=0 : f(0) =0
f(z)=1z z 31! 5|
=7 3_!'5%+

f(z)=1-cos z, f(0)=1-1=0,
f"(z)=sin z, f'(0)=0
f (z=cosz, f (0)=1£0.
z=0 f(z)=2z-sin z
4 16 snz-1

sin z-1 y4 . Snz-1=0
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(e”-i) =0,e" =i,
z:%+2m (k=0,+1, ),
sin z-1 y4
(sin z- 1) =CO0S z =0,
Z= =+ 2kt z= =+ 2kt
(sin z-1)"| = -sin z = -1£ 0,
z=?+2ln z= =+ 2kt
TT
Z:E+2kr[ (k=0,x 1,2, )
sin z-1
xsmi, x# 0,
f( x) = X
0, Xx=0
x=0 , , Xx=0
1
=+ —(n=1,2,3, ) : x=0
I
f( x) : x=0
4 18 |z- a]< R f( 2)
a , f( 2 a
( :
a f(2) m , , 4 17
f(z)=(z- a)"¢(2),
®(z) |z-al<R , 9(a)% 0, ¢ (2)
1 28 |z- al<r ¢ (2)

f(2)

a

a
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4 19 (1) f( 2 K:|z- al| <R
(2) K f(2) {z}(z#% a) a, f(2
K :
f( 2) a : f(z)=0, n
f(a)=0. a : 4 .18
f(z) K
: 4 .19 (2)
“ f(z) K ( ) 0" .
f(2) D
D f(2za 0; 4 19 ?
2.
( )
C
C C )
4 20 (1) fi(z) f.(2) D
(2) D a D {z}(z# a),
fi(z) f.(2) , f(z) f.(z) D
f(z)="f.(2z)- f.(2) f(z) D
f(z) D : D {z}(z
£ a) a D. D a : D

z : 4 .19, f(z)=0.
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,d>0) . L a
=&,&, ,&- 1,a& =D,

R(0< R<

d) . : 4 .19, Ko :

|z- a&a|<R f(2z)=0. K. :

|z- a|< R 4 19,

Ky f(z)= 0.

f(z)= 0,
f(b)=0. b D
D f(2)=0.
4 21 D
fi(z) f.(z) D
( ) : 42
D
4 17 (1) f(z) 9(2) D
(2) D f(z) 9(2)= 0,
D f(2=0 g(z)=0.
%z D 9(z)z0. g9(2) Z
128 Z K D, g(2) K

f(z) 9(2)=0 (z K D),
f(z)=0 (z K D).
( 421) f(z=0 (z D).

. 2 2
4 2 ( ,SIN z+ CoS z
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=1,sin2z=2sn Z COS z ), Z ,
z
(1) 4 19 4.20
4 21 4 22
(2) :
D D :
4 18 , |zl <1 Ln(1+ 2)
z :
Ln(l1+ 2) In(1+ z) |z]|<l1

00

ﬁ'_:LL’X (_1’1)’

In(1+x) =y =0
®© :_lznzn+1
ZO n+1
(- 111)

9(2)=In(1+ z),
( 4 21), | z] <1
g(z)=In(1+ 2),
In(1+ z) |z|<1

n n+1

(4 12)
( 4 .21
4 22),



176

4 23( ) f( 2) D
| f(z)| D , D f(2)
M | f(2)] D : 0< M<
+o00 | D % , f(2) %
| f(z)|=M.
(1) ( 3 .12) %
D |z- z| < R,

f( 2) =§ﬂ'o f(2z+ Re")do .

2n

|uans§£|ua+R§nm. (4 15)

|f(z+ Re' )| M, |f(2)]|=M,

(4 15) , (0 o< 21),
| f(z + RE*)| = M.
P® =9
| f(2 + Re™) | < M,
| f(2)| , | f(2 + Re*)| < M

Qo -€ <@ < Qo +¢€

|f(z + Re*)|< M .
(4 15)

2n

M=|f(zo)|s§13fo | f(2 + Re")|dg < M,

, : V4 -
| f(z)|= M. . D K (K
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D ) [H(2)]=M.
(2) ( )6(3), f(z) K
(3) f(z) D _
424 (1) £( 2) D
D=D+ D -
(2) [f(2)]s M (z D),
f( 2) 1f(2)]<M (z D).
(1) M(R)= max | f(2)],
M(R) = max | f(2)] .
(2) 71
(3)
4 19 311. *  f(z2)
| z]< R a>0, | z| = R
1f(2)]>a,
1£(0)] < a,
[zl< R f(2)
|Zl<R ,1(2) 2= R
1f(2)|>a>0, f(z) |z|]< R
0(2) =75
| z]< R
|<p(0)|=\f(10) >,
| z] = R
|<p(z)|=\f(z) <,




1/8

¢ (2) , |z|=R
lo(2)[ <[ (0)] .
()
1
oin N 3+5| N
(1) Zl e (2) Z ; (3) Zl
(1) 1 (2) ;(3)
2

u)i;ﬁ; «aﬁogﬁ w)ilﬁf.

(1) 1;(2) 2;(3) 0.

oG
3 lim Z ,
= (2 @)

(1) ¥ &z'( )

(2) 3 77" ( );

w)mel( ) .

4 Zo GZ R(0< R< + ),
z:| z|]< R

.5 z

(1) oplab . bz 0);

(ZI i ezzdz; (31' :&Z

(4) sin’ z; (5)

1
(1-2°




:(1)2 (-1 27, 21< | 2]
o AN+t .
(Z)Z Zn+)nt’ | z| < + o0 ;

22n+1
(3)Z (-1)° (2n+1)(2n+1) V

| z| < + o ;

_%Zl(-l)“!(zz—f])ﬂ, |z]< +o;

R |
(9) (1- 2> 1-2z

!

6 e’ln(1+ 2) z , In(1+ 2)

Z .32
3 "0
7 Z -

:z+%+ + |zl <1.

H

(1) sin z;

(3) 7 @7z =S

© SN E+1

(1)2 ———(z- 1", |z-1|< + o ;

1 :
(2)-Zl -5 (z-1) z-1]<2;

00 n 00 n

1 1 2n 1 2n+1
(3)4 ZO 7 (z-1) +ZO 2 (z-1)
|z-1| <2;
o n
-1+ 3'X 1 (z-1)",|z-1]<1,
3
33 doen
1 = o ,(n= 1), 1 =1.
3 3
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Z

(1) Z(e -1); (2) 6sin Z + 2(7 - 6),
(1) 4 (2) 15
9 pA f(z) m : g(z) n
2 2
(1) (2)+9(2: (@) (2 9(2; (3)&—3
10 % f( 2) n , ¢ (2

C )

(n)
lim f(z2) T ' (2)

(n)
ZﬂZOCP(Z)_(p(n)(Zo)((p (ZO)¢ 0)

11 , Z:—::'](n=l,2, )

(1) 0,1,0,1,0,1,

11,1
(2) 0’ 2 101 4 lOl 6 )

(3) ; (4)

12 (1) f(z2) D
(2) z D
" (%)=0, n=1,2,
f(z) D
13 ( ) D f(z), D
f(z)2 0, [f(z)] | f(z)] D

(1) f( 2) D , D=D+ D



(2) f(z2)20(z D);

(3) m>0, |f(z)|= m(z D),
f( 2) | f(z)[>m(z D).
14 D C , f( 2) D , D=D
+ C , |f(z)] C . : f(2)
f(z) D
()
1 Z fa(2) E f(2), E [9(2)]

< M(M< +o),

00

Zl 9(2 f. (2

E g(z)y f(z2).
2 : | z| <1
z+(Z -z2)+ +(2-2"")+
f( z)= 0,
3
(1) Z Vo =0
O] [wl+]va|+ +]va]+
(2) z

e’ -1|< €7 - 1< | z|€? .
(3) 0<|z|<1

1 . 7
gz <le-1l<lz].
4 f(z)=z a,Z (a# 0) R>0,
=0

M=max|f(z)| (p<R).

| & |

2zl <15 T+ W



f( 2)
M
< =, z| <
| a, | 5 | z| <p
|v|—|—2|—, | f(2)|>0.
p -z
5 |z| < R f(z)
f(2)=a+az+taZ+ +az+
< r<R
x i0 2 N 2 2
f(re ® = r .
A, 1 ®= Y Jal
1 f(2)|° = f(2) f(2) .
6 f( 2)
R M, lz]= R ,|f(2)]|s M|z|" .
: f(2) n
f( 2
n=0
7 (1) f(2) Kilz- z| <R ,

(2) n# z,zz K.

Z
8

(2)

F(Z)if;f(l)dl (z K)

o] Q& (2 K)

?( K )
(1) D L;
u(x,y) +iv(x,y)
u(z,0) +iv(z,0) (z=x+iy)

D . ( ) D

u( x,y) +iv(x,y)= u(z,0)+iv(z,0) .

| f(2) -

f( 2)

& | <



u( x,y) +iv( x,y)
), Z
u( z,0) +iv( z,0)

y=0,x=2). :
"9 (1) f( 2 D ,f(2)a
(2) C D . 1(C) D;
(3) A :
f(z)=A C I(C)
10 le | |z- < 1 ?
11 f(z |z|]<R
M(r) :Irge:xr| f(2)]| (0 r< R).
cM(r) [0, R) , r r,(0< r,n,

<R), M(r) = M(r), f(2)=
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(Bessel)
( a ) r<|z-a|<R(r=0,RS +o,
r=0 O0<|z- al]<R)
8 1.
1.
o+a(z-a)+a(z-a)+ (5 1)
= = (5 2)

+ 2
Zz-a (z- a)
, | z- a] < R(0O< RS + )
fl(Z).
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|Z|<ir 0<irs + 00
z, (52) |z-a|>r(0< r< +w) fa(2z) .
r<R ,(51) (5.2
H:r<]z- a|<R. : (51) (5.2
i a(z-a)" . (5 3)
4 10 4 13
51 (5 3)
H:r<|z-a|<R(rz20,Rg +o)
(1) (5 3) H
f(z)=f.(2)+ f.(2) .
(2) f(zg H
(3) f( 2) = > G(z-a)
H p (p=1,2, ).
(4) f( 2) H C
51 4 13 .
2.
5 2( ) H:r<|z- al|< R(r=0,R
< +o) f( 2)
f(z)=i a(z-a)", (5 4)
4_)_
G = _fr(z - (n=0,+1, ), (5 5)
r I - a| = (r<p<R), ( f(2)
H G) .



186

(Laurent)

5 2 4 14(

[

RSP ILILR

_ 1 _ @) _
q—ﬁ @ a)n+1dZ(n—0,1,2, ) .

2"

(5 6)
1 f(()
ﬁrl Z-Zdz’
f() _ f(Q) _f@Q) 1
2-0 (z-a-@C-a z-a,
Z- a

(5 6)

(5.7)

(5 8)



§1.

(

f(Q)

[

E%f

1
=2 . (1

z-aZ

i

1) -

1)

25 (z- a)

(56),(57),(59)

f( 2)

] z- al

00

a)

2{ a(z-a)"+ jz

}E Ga(z-a)'

(5 8)

(5 .10),
=p(r<p<R),

—d (n=1,2,

(Z--a)n

) .

),

H

(5 9)

(5 10)

(5 4)
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f( 2) H

f(2)= 5 c(z- a)",

51 N:1z- al=p(r<p<R)
r L )
(z- a)
£ (4 I m1
TR I P
32 n=m 21

c’“:Elf 1) % (m=0,+1, )

r (- a”
(5 5) : ¢&=a(n=0,£1, ).
51 (54 f(2) a , (5 5)
(5 4)
(
5.1 505), : (5 .5)
( 5 6)
3. f(2) a
a, a f( z)
(5 3)

51

1
=70 (z-2

z rz=1 z2=2 . z
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f(2) (1) 1zl <1;(2) 1<]z]
<2;(3) 2<|z| < + o0, f( 2)
f(z)
f(Z):z%z-z%l'
(1) | z| <1 .zl <1<2, ‘?Z <1,
(4 10)

__1 1 < .1
f(Z)—l_ 2'2 1_—2 - ZO 1 2n+1 Z,
2

f(2) | z| <1
1 y4
(2) 1<|z|<2 , . <1, > <1
_ 1 1 1 1
f(z)= 21__2 Z_l_L
2 z
_ 1o Z 1 1
- 2202n ZZI Zn_1
e L. 4
- 02n+l Zl Zn
(3) 2<|z|< +o 1 <1,‘£ <1
z z
O o A
1-—= 1-—=
z z
© 2n i 2n—1_1

R N
_ZZoZn_ZZO Zn_22 z

52 f( z) a K-{a}:
0<|z- a|< R( a ) , a f(2)
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( 2 3), a f(2) :
f(2) K-{a} : a f(2)
: f(z) K-{a
a f(2) : (
) .
a f( 2) , R,
f(2) a K-{a:0<]|z-a|<R
5 2 f(2) = 1 z
(z-1)(z-2)
z=1 z=2. f( 2) ( 52)
(1) ( ) O<|z-1|<1
1 1

- 1 + 1 o 1 2 X
crEe AL
1 o0

=-71y, (205 5 2
(2) ) 0<|z-2|<1
1 1
W2)=7%- 7271
= 2%2' ZO (-1)"(z-2)" .
(3) ( ) o 1<|z-1]< +o ( z=1
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_ 1 1 1
o= -73"7.1 1
z-1
1 1 ® 1 n ® 1 n+1
= - + -
z-1 z—1z0 z-1 zl z-1
(4) ( ) 1<|z-2|< +o0 ( z=2
1
B I i
1 1 1 1 1
N)=F %-Z72+1"2-2"2-2 1
1+
zZ-2
_ 1 1 o 1"
_2'2 Z_ZZO( 1) z-2
@ 1 n+ 1
=2 z-2
53 sw;z y4 z=0, 0<
| z| < + o0
. o n 2n 2
smz:Z(—l)z=1 z .
z o (2n+1) ! 3!
1
54 € +e* z z=0, 0<
| z| < + o0
;i A |
e +€ _2+Zln!+zlniz"
(5 5) :
55 sin—*— z z=1,
z-1

0<|z-1|< +w

: z .
smz_ 1—Sln 1+ 7.1
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: 1
+ . —_—
— cos 1 sin 1

- 1 +

21 (z-1)

" 1 = +

(2n) ! (z- 1)

1 1 .\
z-1 31 (z-1)
(1)’ ; -

(2n+1) ! (z-1)"""

=sin 1 cos

=sinl 1

+(-1)

+ cos 1

cosl sin 1
z-1 21 (z-1)°

=sin1+

sin 1

cos 1 n
3zt 0
cos 1

+('1)n(2n+1)!(z-1)
56

(2n) ! (z-1)*"

2n+1

1 - .
cosh z+— =¢ + Z + z ,
> =G Z G ( )

2n

G =§ cos np cosh(2cos @ )do .
0
W:z+l z z=0
z

cosh w=%(ew +e ")
1
w ,  cosh z+—Z Z
=0. 0<|z] <+

1 ) n
+_ :
cosh z - nzm GZ,

1 cosh (z+ 7 )
Cn_ﬁ |—p Zn+1 dZ,
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| z| =p>0.
p=1, r,:z=¢€",0< @< 21,

2n

G =§ : cosh(e’ +e *)e ™ do

=§ . cosh(2cos @) cos rp do

El'f . cosh (2cos @)sin npdg .
2t -6,
2n
(o8 zg . cosh(2cos @)cos rpdo .
G=c.(n=1,2, ).

1 - "o
cosh z+— =¢ + Z + 2z .
> =G Zl G ( )

§ 2.

, a f(2)
, f(z a K-{a}

f(z)= zw a(z- a)".

00

Z c.(z-a)" f(2) a

Z cn(z-a) " f(z2) a

a K:lz- a|<R
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f(2) a

5 3 a f( 2) .
(1) f( 2) a , a f(z2)
( 523).
(2) f( 2) a

C—m C—(m—l) C—l
— + — + + (c. w# 0),
(z- a) (z- a) z- a

a f(z) m ( 52) .
(3) f(2) a : a
f(2) ( 54 55).

2. a f(z2)
f(z)=w+G(z- a)+c(z-a)’+ (0<|z-al<R).
K:]z-al|< R : f(a) =
o, f(2) K |
f(z) a . a (2
a f(2)

53 a f( 2)

(1) 1(2) a
(2) limf( z) = b(# o« );
(3) f(2) a :
(1) (2):(2) (3):(3) (1)
(1) (2): (1)
f(z)=¢+c(z-a+ (0<|z-al<R),
limf(z) =6 (# «) .
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(2) (3): 127.
(3) (1): f(2) a K-{a} M
f( 2 a
C.1 C.» C.n

+ >+ + ~
z-a (z- a) (z- a)

_1 &) _
cw_—jr(z 2)" <d(n=1,2,3, ),

+

K (- a|=
= ‘5}. = f(&) &
SEp' l2np—|\/|o”
n=1,2, ,C.n=0. , T(2) a
3. (Schwarz) f(2) | z| <1

f(0)=0.11(2)|<1(] z| < 1),

| z] <1
| T(2)]= | z],
| (0)|< 1.
| z| <1 2% 0
( )

f(z)=€"z (]z]|<1),

f(z)=caz+aZ+ (|z]<1).

CP(Z)=ﬂZ—Zl=cl+c‘az+ (z£ 0),
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(Laurent)

P0)=a=f(0), o(2) |z[<1
?(2) | z| <1 Z ,
| 2| < r<1, :
0(2) 1< max|e(2) | = max| 2 |< -
r-1
lo(z) < 1.
| f (0)] =19 (0)|= 1, 2720
0(2)1= [12|< 1,
| f(2)[<s 2] .
<1 %, lo(2) | , ¢ (2)=
e (a ) , f(z)z € z.
f(0) =0, A
z2 0 Z
A
, ( 523)
\ °
P S @

53
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f(z) A
f(2)
Z>\1
1 f(2) < | 2",
f(z)=¢€Z7 (a )
4.
54 f( 2) a
. , m
(1) f(2) a
C.m C.1 _
(z-a)m+ +Z_a(c.m¢0),
(2) f(2) a
__A(2)
f(Z)—(Z_a)m, (5 11)
A(2) a , A(a)#z 0;
® o(=715 a m (
g(a)=0) .
(3)
f(z) a m 1 a m
f( 2)
(1) (2 (1) : a
___Com C(m- 1 C.1
f(z)_(z-a)er(z-a)m'1 " Z-a

+o6+aG(z-a)+



198 (Laurent)

_CantCmy(z-a)+ — A(2)

B (z-a)" (z-a)"
A(2) a , A(a)=c..z0.
(2) (3): (2) , a

__1 _(z-a"
9D =17 "2

1 1
A(2) A (a)

,a 9(2) , : g(a)=0, a
g(z2) m

2 0( 1 28) .

@ W «A=tm a m

9(2)=(z- a) ¢(2
( (4.14)), ¢ (2) , @(a)z 0.

11
AR PRSERTEN

a ( 1 28),

1
¢ (2)
f( 2) a

:C—m+C—(m—1)(Z‘ a)+

C-m C-(m-l) C-l 1
m T m-1 + + C.n= 0 .
(z-a)" (z-a)"" z-a 9(a)

55 f(2) a
Iirr;f( Z) =oc0 .

f(z) a

( (3)),
57
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_ 5z+1
(2= 7 nezr1)
z=1 2= -2 ( 5 4(3)) .
5.
56 f( 2) a
. b( .
Izlﬁrr;f( 2)# o Izlqrr;f( z)
53 (2) 55
57 Z= a f(2) a
_ 1
- e f(2)
1
0(D =75 z=a  ¢(2)
z=a ¢(2) ( ), z=a f(z)
, z=a (2 Zz= a
f(2) «C ) . z=a ¢ (2)
58 z=0 eiz :
el?:1+i+ 12+ + 1n+
z 2!z nlz
(0< |z < +w)
57, z=0 e'lz
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Jﬂéﬁﬁ‘)ﬁ\
ML s A
SER ) -
5 [$ﬁ§ﬁfﬁﬁuﬂm%
E[1 VA=
X (S H ) .
6. (Picard)
1876
58 a f 2)
A ] .
limf(z)=A.
; f( z)
( )|
(1) A=w , | 2
] : , a f( 2)
(2) AZ oo .
) a
z , f(z2)=A.
| - K-{a)
f(z)z A. 57
1
(%)= f(z) - A
“-td ’ a ( a f(2)
) - (1) , . -

lime(2) =o .
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limf(z)=A.
59 f(z):sin—Z
f( 2) . z.0 ,sn=+
z
( ) Z
A=oo | Zn:—l, i=-in, n— o
n yA
smi: -isinhns o
yA
AZ oo .
{z},
sini=A,
ya

izzArcs'n A=—}Ln(iA+ 1- A") .

2 = — (k=0,% 1,
IniA+ 1- A°)+2kti
i
IniA+ 1- A)+2mti
n=1,2, |, {z}-0,

f(z)=A(n=1,2, ).

Z, =

imf(z)=A.

n- oo
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510 f(z)=e? .

, f( 2) ( 5 8)
Azw, z=-T,
n
f(z)=€ -0 ( noo ).
C Aze , =&
n
- R §
A_01 Z, = n,

, Az 0, AZ o .
e’= A
Zn .
i:LnA,
z
= 1 k=0, 1
2= Av 2w (K202 1)
_ 1 _
Zn_InA+2mi(n_1’2’ )
f(z)=A {z} .
!irljf(zn)=A.
59 510 ,
A=o , A=cw  A=0), { z.}
limf(z) = A,

Z - a
n

{z}
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f(z)=A(n=1,2, ).

, . 1879
59 ( () ) a f( 2)
: Az o, A=A
a {z} f(z)=A (n=1,2, ).
8§ 3.
f(z) = , o f(z)
54 f(2) ( )
N-{o} +o0 >|Z]|>r20
: o  f(2)
[ f(2) , Zziz,

Copson . Theory of Functions of a Complex Variable (Oxford,
1935) § 15 5 .
( , ) . § 4
(Schottky)
J.B. . . : ,1985 .
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0(2)=f 5 =1(2) (5 12)
K-{0}:0<[2]<2( 120 “=+m)
.Z =0 o(Z) )
(1) z N-{o},
2 ,
(2) z 7 f(z) @(2)
(3) lim 1(2) = lime (2),
©(Z)
£( 2) |
55 Z2=0 ¢(2) ( ) m
Z=o00 f(2z) (
) m :
f(e),
: f(z)
55 , f( 2) 00 , o  f(2)
f(o)=1limf(z) .
K-{0}:0<|Z|<  @(2)
m(Z)zzw C.2"
z:iz, (5 12),
f(z)=§ b7, (5 13)

b.=c..(n=0,x1, ).
(513) f(2) N-{o}:0< r<|z|<



§ 3. 205
+ oo ©(2) 2=0
b z f( 2) Z=00
f(z) C.
z=0 Z=o0
f()=a+5+ +3+ +hzeh7+
+b,Z+ (0<]|z|<+w),
f(2) - a :Zm;—i” inz“. z=0
O<|z|]< +w , f(2)
| z|
+ oo Z= 00
0<]z|]< +o f(z)
(1).(2).(3)
53 ( 53) f(2) Z=o0
(1) f(z) z=o
(2) limf(z)=Db(# «);
(3) f(2) z=w N - {co}
54 ( 54) f(2) Z=o00
m
(1) f(z) z=o
bhz+ b Z+ +b,Z"(baz 0);
(2) f(z) z=w N - {co}
f(z)=2"u(2, (5 11y
w(z) z=o N , M (0)z 0



206 (Laurent)

@) oD=7y z=e m g ) =0) .
1
511 ((2)={7p(z g 2<lzl<+e

( 54(3)), 2= o

( f(20)=0) .

0(2) = (5= (2- D(z-2)
=721-L 1.2,
4 y4

_ 1 2 _
M(z)= 1- - 1- - M (0 )=1£ 0.

55 ( 5.5) f( 2) N
limf(2)=e .
56 ( 5.6) f( z) 00

(1) f(z) z=o
(2) limf(2) ( z o, f(2)

) ) -
5758 509 Z= o f( 2

5 12 an—b

0 | z| >max{ | a|, | b|}



§ 3.

A
In2—2=n £
z-Db 1__b
Z
=ln 1-2 -in 1-2 +2kui,
n1-2 |n 1--=2 (4 12)
Z Z
z-a_,. . < 1 a'" < 1 b'
IIqz-b_zml'zl n z +Zl n z
=2ki+ y b -8 1 4 -0+1,+2
1
, 2= 0
513 Z=00
f(2)=e?
z=L
Z’
1 1% 1
f = =’ =X
¢
¢ =0 : ®(C),
2 1
! = - — +2¢
0 Q)= Ty
1 8 4
¢'(¢)=e"* *

(1+20)  (1+20)
©(0)=e,0' (0)= - 2e,¢0" (0) =12e
O)=e(1-20 +6° + ).

FTzel-2+2+  (2<|z<+w),



208 (Laurent)
Z= f( 2) : f(o ) =¢,
tan (z-1
5 14 1 ( ),
tan (z-1)  sn(z-1)
z-1 (z-1oos(z-1)’
z=1 ;zk=1+%,k=0,i 1,
Z=o0 :
1 _
515 Sec z=1
z-1
z=1
sec 1 1
z—1_COS 1
z-1
: 1 _
.secz_1 z=1
_ 1 _
Z = 1 +1,k=0,£1,% 2,
k+En
z=1 z=1
5 16 f(z) 0O0<]z-al<R :
; f( 2) a a a
f(2)
z= a f(2z)
f(z) |z-al]<R ( f(a)=0) a
4 19 f(2) ,
,Z= a f(2z) : : M >0,
0 >0, 0<|z- al<d ,|f(2|>M.



§ 4. 209

z=a f( 2 :
§ 4
N
C. ( o ) .
N(o) r<|z- a z=a Z= (
©);N(o)-{o} r<|z-al<+w Z= a
Z= o0 :
a=0 8 4
f(z) C. z=a z=o
_ cn 2
f(z)—ao+z_a+ +(Z_a)n+ +h(z-a+h(z-a +
+h(z-a)'"+ (r<|z-aj<+w).
8 4.
1. : z
f( 2)
f(2) : f(2) Z=00
(=73 GZ (0 |z|]<+o0) . (5 14)
510 f(2z)
(1) z=o f( 2) (2= G .
(2) z=o0 f( 2) m - f(2)

m o+azt +az (cn# 0).



210 (Laurent)

(3) z=o f(2) : (5 .14)
G ( f(2) )

Z= o

e”,dn z cos z

2.
56 z
511 f(2) : f( 2)
z
_P(2)
f( 2) a(2)’
P( 2) Q(2) Z m n
(1) m>n ,z=o f(z) m-n
(2) m<n ,z=o f(2)
f(e0) = lim ﬂ(—l = o0 f(z)
(3) Q(2) f(2)
f(2) z
z f(2)
f(2) z 2 2 Z
A A Ao,

9(2)=(z-2)(z-2): (z-2z)"f(2)




Z=00 , z . 9(2)
) f( 2)
57
1
517 —

z=2kti(k=0,+ 1,+ 2, ),

Z=o0
518 - f(2)
f(z)=az+b (az 0) .
w=f(z)=az+ b(az 0)
z:—;(w- b)
( ) -
f(z)=az+b (az 0)
f(2) . 5 10,
(1) 1(2)
(2) 1(2)

flz)=w+cz+ +G7+
(Os | z] < + )

Z= 0 |,



212 (Laurent)

£ 0 | A=A 00 { z}
f(z)= A(n=1,2, ). f( 2) :
(3) f(2)
f(z)=o+Gaz+ +az(az0).
A% o | L f(2)= A n
( ) . f(2z) n=1
f(lz)=o+tcz (az0).
f(z)=az+b (az 0).
"§ 5. — ()
1. 85 :
D , f(z) D
( )
5 19 f(2)=Nin z (N
).
f(2)=5In 2 0<|z|< +oo
oo ( In z
)
z=ré
cp(r,e):ENTIn r,L|J(r,9)=EN9 :
00 N Cr=

Me+iNe o Cf(z)dzz% Cd—zzziN.



"§5. — () 213

rczo,Nc:N. r = ,
; | N
(N>0) o o0 ( N<0) .
(N>0)  (N<O0). e (N

>0) (N<0). |N| _( ) ( 54).

5 4
r= , 6 =
V(D =f(2)=55,
z=0 : Z=o0 ( V(o ) =0) .
520 f(z)=iZ
,i z=0 , Z= 00
z
( : f(eo ) =0), 0<|z|< +w
()
(p(X!y):XZ_:(yZ’LIJ(X’y):XZ___i_%;
; ( 55).



214 (Laurent)

e +i Ne :,[ _f(2)dz

:j' d_22=0
c Z
55
2 ¢ Y
: , (
)e = k ( W=k
?( ) W (
)
f(z)=0(x,y) +ip(x,y)
( ) -
521
Yy _y _

arctanx+b-arctanx_ AR



f(z)=0 +iy,

- Y Y
®(X,Y) arctan ——"— - arc tan -——.

y )

\' \'
‘“(X’y)f (x-b)°+y (x+b)+y

:%m [(X- b+ V] -%In[(x+ 0 + Y] +A(X) .

l-IJX: '(Py,

_ Xx- b X+ b :
Y x- by vy (x+ by Y HAT(x),

_ X+ b ] X-b
(x+b)2+y2 (X_b)2+y2,
AM(x)=0, A(Xx)=A

@y

200 ) + ¥ ] - ZIn [ b)' + Y] +h =),

(x-b) +y
(x+b) +y

In :k2 (k’a:)\l')\)-

Yy
X+ b
(x-b)Y’+y
(x+b)’+y'

- b

z+ b

( 56).1(2) - b

-y

- arctan S ——

f(z) = arctan

+iln

f(2) =iln



216 (Laurent)
L ) 2%
X *ES:_*::*
IXCA- T _
| ( 42444 IS,
s A s
~ -2 N iz
TTymm T
56 57
L
S22 f(z)=2
f(z)=u+iv,
(Uu+iv) = x+iy.

2 2
u-v =Xx,2uv=y.

y2=4u2(u2-x),
y =4V (V' + X) .
u= ki,



Yy =4K (K - x),
y = -2p(x- a)( p=2K,a=kK),

v= k,
y =4k (K + x),
y =2p(x+ a)( p=2k,a= k),

()
1
(1) ZZ(Z:_ll),0<|z|<1;1<|z|< +oo |
1) 22(2;-11): -%-220 27t (0<|z]<1):
) f(z;ll):%”i#’(“'z“+°°)-
(2) (22_2 2')2(;++51),1<|z|<2.
=2£1(-1)” 7 - sz .
(3) % Z?Z+1),O<|z|<1, —12 7
=iz+1 72-%2%



218

(Laurent)
=2 (-1)° (”+1)(—RT (0<|z-i]<2).
=0 (2i)
(2) Ze¥,220 z=w
> L - 1 1
z€ _Z_z(n+2)| S (0<|z| < +w) .
(O<]z]<+e z=0 ] z=0 Z=00
)
(3) -z 1 z=o
A o (-1)" 1
e]'zz -~ 0< Z-l < 4+ ’
ZO nl ( 'l) ( | | oo)
(0<]|z-1|<+w 7=1 -
y
ST NN
(I<]z|< 4+ z=0 7= oo )
3
. 1 *® . .
sin t z+—Z =@+ Zlcn(z+z ),0< | z| < + o
t Z '
1p 7 .
G=5f , Sn (2toms8)cos BB,
(n:011121 )
4 , ( |
)
z-1
(D) ZF 74y
z=0 ,z=+ 2i 7= oo
1
(2) sin z+oos z°
ZZ:k‘[-%(k:O,i 1, ) Z=
1-¢€°
3 z
()1+e

cz=(2k+1)mi(k=0,+ 1

)



(1)oos—lz,z:0; (2)oosiz,z=oo;

,2=0; (4) cot z,z=0 .

() (2 (3 4

6 f(z),q9(2) z=a m n . z=a
f(z)+9(2),f(2)9(2) f(2) d(2) ?
7 f(2 zZ= a , o(2) ya
a ) z=a @(2)x 1(2.9(2 (20 o¢(2) (2
8 ( )

1 1
(l)ez-l z

:z=0 ;z=2kti(k=x1,+ 2, )



220 (Laurent)

(2) e 2

:z=0 Z=o
(3) sin—+% .

z=0 ; Z= 0 ( )
(4) e°cos —

ez-1
(5) =5 -
z=1 ;z=2kti( k=0, 1,£ 2 )
Z= :
9 : z f( 2) ( ) .
10 “
11 f(z) = Z anz f(z)
n . e, ‘ani ~Nzl(lzl=T
) .
()
1
(1)) z,z=0;
(2) z(z-2),z=1,
z —
B T2 "
(4) Ln Z%1,z:oo;
(z-1)(z-3) __
(5) Ln(z_z)(z_4),2—oo
(1) (2 5(3)

(4) :(5)



3

_ 1
f(z) = 22- 1)
1 1 1 1
2 = i 7+ 5t
z(z-1) (z-1)y (z-1) (z-1)
(1<|z-1]< +w)
‘z=1 f( 2 ?
f( 2) a
f(z f(a
Z£ a,
9(2) = z-a
f(a), zZ= a,
f(2)
f(z) - f(O
o=z = “°
f(0), z=0,
a f(2 a f(2)
lim(z- a)"f(2)=a(#0,0),
a f(2) (z- a)f(2)(k
ra  f(2) k
f(z) =dn 1
Sin—z
z
_az+b
f(2)= cz+d ad - bz 0.
0 ) C

m

f( 2)

)



222 (Laurent)

( ), f(z) D C,
limf(z)= g% o,

Z—

Elf _ H(Ddz= - o,
© ¢ f(2)

R , C r:1z|=R
58) .
Elfr- f(2)dz= - c.. .
I
C
58 59
10 ( 00 ) ,
f(z) - f(»), z D,
af o 7oa =
2y c ( - 2z 0- f(w), z/D.
C , 00 D
z D .z r,, ¢

r. ( 59).L=Ir,+C

1, Q) ., _
z_J TSR =f(D)

f(() R<|C-z|<+e



1 ) o -
A e

(R<|C - z| <+ z o y
11
_ 1 dz
I_Ej‘|z|=99(Z-2)(Z-4)(Z-6) (z-98)(z-100) -
= 1 _ 1
' 9 TN
[1(100- 2Kk)
9 10 D C : D
y4 co C
G, G, G
C=CG+GC+ +Cy.

12 f(2) z

13 z n

14  (1)C ,f(z) C , C;

(2) f(z) C

( ) f(z C
15 , f(2) A
f (0
|5 <1.
f(2)=€2 (a ozl <1) .

16 f( 2) | z| < R ,f(0)=0,]f(2)|s M< +0 , (1)
W@E%HHH<R IHWH%K@ z(0<| z|
< R)

112 =g |2,
ua:¥€z(a 1z|<R) .

(1) R=1,M=1

(2)



224 (Laurent)

z=0 f(z) A

)
121 i (< my, |50

M
< —= .
R

f(z):%éuf(a 1z|<R) .

A=1 )



8 1.
f( 2) a
C a a
Icf(z)dz:O.
a f(2) , C a
a,
J'Cf(z)dz

61 f( z) a ,  f(2)



226

a 0<|z-al<R ,
Elf f(2d«T |z-a|=p,0<p<R)
f(2) a (residue) , R:easf( z) .
3.10 , O0<p< R, Y
, (5 5)
i f(pndz=c (6 1)
5 e -
Resf(2) = ¢, .
C-1 f(z) z=a z?a
61 ( ) f(2) C
D , a,&, ,a : D=D+ C
&, &, o o " )
J' f(z)dz=2mi Z Resf( z) . (6 2)
& , P« MNe | z- a|
=p«(k=1,2, ,n), D,
( 6.1). 3 10

I _f(2)dz= ZJ ~ f(2)dz.

J’r f(z)dz=2ti Resf( 2) .

(6 2)
3 10



§1. 227

61
2.
. a
1
Z- a
n
) :
6 2 a f(z) n ,
_ Z
f(2)= 2L
@ (2)( 5 4) a ()% 0,
(n-1)
g§uz):%]fﬁ§?. (6 3)
¢ (a)  9(a), 9"V (a)=lime"" V(2 .

_ 1 0 (2) _9'" "V (a)
Resl(D =2 - (z-ay 2" (noD) |

63 a f(2)
®(z2)=(z- a)f(2),



228

6 4

65

w(z) a

a

Resf (2) = |.mm—1( z-

61

6 3,

6 4

Res(2) =

Rest(2) =

Resf(z)=¢(a) .

a f(2) :

0(2)=(z-a) f(z),
Resf( 2)=¢" (a) .

a f(z)-{lj“(—% (

¢(a)z O,w(a)=0,y"(a)# 0 ),

(6 4)

(6 5)

¢ (2)

R:esf(z):L-(If,—((—zl)S.
o(2)
Y(2) -w(a)

Z- a

a)—Ilm

w(2)

_9(a)
Y (a)
63

6 4 6 5

5z-2
lz1=2 z(z-1)

__5z-2
f(Z)— Z(Z-1)2

z=1.

>d z

I

| z| =2

5z-2
(z

52-2"
Z =1

N[N



§1.

52-2 .
———dz=2ti( -2+2)=0.
I | 2| =2 Z(Z-l)2 ‘ I( )
6 2 I tanttzdz (n ) .
| z]=n
tanmrz= 3002 L k=041, )
COSTI Z 2
65
__9gnmz _ 1
Zl?ke%(tann 2) = (COSTT Z)' | .= ws & Tt
(k=0,1, )

I tanTt zd z = 2mi
| z]=n

<n 2Tkt 7

Z Resl (tanTt 2)
k+E

=oti -20 = L 4ni
11
coS Z
63 d
.f|z|:1 z
f(z):coz'iZ z=0 . 6 2
l n — l
B:e()Sf(Z):Z_I[COS Z]z:O_ - 21
| QS Zy,=oni -= = -mj
lzl=1 Z 2
zsin z
6 4 - =d
I|z|=1 (1-¢)
| z| =1 z=0
z z
zsn z 2z 3" 7 -3t
z.3 2 3 — - "3 3
(1-¢€) 7+ %+ Z 1+L4



1+a z+
a& N . z=0
zsn z _ 1 a -
(1_ez)3 Vi 1 ’
zsn z
es— 53 =-1,
=0 (1-¢")
; - 2.
, 1-¢€
z=2kti, k=0, 1,
z=0 | z| =1 , ()
z=0 zsin z
. z9n z
f(Z)—(l_ez)S
| z| =1 z=0
2 .
Zdn z
z)= z2f( 2) = ————,
®(2)= 21(2) = s
z f(2) : z=0
0
0 )
2 .
= =i — lim -£35In_Z
Resf(2) =¢ (0) =limo( z) =lim 1-e)
i SN2 z
_zﬂO 7 (1_ez)3
3 1 3
= ||m z = Ilm z
z-»Ol_e z-0 _e



, - 2mi
65 I|z|:1e dz .
| z| = e
z=0.
7_,,1. 11
e’ =1+ 22 +2!4+ ,
Rese” =0
= _ >
J' e dz=2ti Rese” =0.
|zl =1 Z=
3.
62 o f( 2) . f(2)
N-{0}:0s r<|z|]<+o ,
1
o - f(2dz.(T |z|=p>T)
f(z) o ., Resf(2), r
( )
f(z) O0< r<|z|<+ow
-n C.1 n
f(z)= +Zn+ +—Z+Q)+clz+ + cz + ,
32,
Beﬁsf(z)zilf . f(zdz= - c-1, (6 6)
Resf(z)  f(2) o <

6 6 f(2) z



232

J' r f(z)dz=2nizn Resf( z),

1,

" L i
Zl Eeaff(z)+ﬁ ~ f(2dz=0,

Resf(z) =0,
Resf(2)

Figosf(z)z -1.

o

n

Y Resf(2) +Resf(2)=0.
1 z:ak Z=o

f(2z) a
o  f(2z) ( ),

f(z)=2+~ z=o ,

Resf(2)

t:i.
p4

o()=f < =f(2),
N-{0}:0€ r<|z|]< +

K-{O}:o<|t|<ir( (=0,

rilzl=p>r Volt=A=

a—n-ll—‘
=

f(2)dz= Z—%J o



§1. 233

Resf(z) = - Res f = = (6 7)
Z=o t=0 t t
6 6
ZlS
| .
Tf |2l =4 (22+1)2(Z4+2)3dZ
4 IT[+2kIT
z=%1,z= 2e * (k=0,
1,2,3) Z=o00 | z| =4
| z| =4 :
| =2ti[ - Resf(2)] .
f(Z) (0] lz C.1 .
ZlS ZlS
f(Z)= 2 2 4 3 = 2 3
(z+1) (z +2 Zlel+% 1+%
Z Z
L1214+ 1.32%2+
Z Z Y4
6)
,Resf( z) -1, | = 2mi
1
¢ L1 t 1
t 1:2— 2 l 3 1:2
S +1 G +2
t t
_ 1
t(1+ ) (1+2t%)°’
t=0
(6 7)
| =2i[ - Resf(2)] 21 Res it ti

=21 .



f( z) Icf(z)dz
8§ 2.
2t
1. I R(cos®,sn0)d R(cos8,sin0)
cos0,sinB : [0, 21] : z=¢
_z+27 o _z-7 . _dz
cos0 = 5 ,9n 06 = > B =",
0 [0,21] ,z | z| =1
" R(cos8 ,sin 8)d8 R 2tz z-z' dz
_Io ' i lz] =1 2 ' 2i 1z’
Z ) )
i0
Z= ,
R(cos@6,9nB) [0,2t1] ,
|z| =1
67
2n
o
I > (0< <1) .
:_fol-zpoose+p( |pl<1)
_ o _dz
z=e , =77 pz 0 ,

1-2poosO+ p =1- p(z+ Z-l)+p2:(2— D)(Zl— pz)’




§ 2.

dz
"‘IJ' i (z- P (L- p2)’

| z| <1
1
f(z)= ,
(= m)
z=p , |zl =1 : (6 4)
1
Resf(2) =171z z:p_l-p2(0<|p|<l)’
1 : 1 a1
= — = <
I i2m1_|o2 1_p2(0_|p|<1).
| pl>1
& 03]
Io 1-2pcos + p
?
6 8
sin 0
|10 T3 boosg @ (a>b>0) .
Ij. - z-1) 12+1_(ij_zz
lz|=1 a+b Z
22
:2_|£ (Z —21) dz
H=r 2 748,49
b
. 2 2
:Ij 5 (z - 1) dZ,
2P 12=1 Z(z-a)(z-B)
_-a+ d&-b _ _-a- a-»b
o= b B = b



236

22+2TZ+1:0
: of =1, IB|>]al,
la|<1,|B|>1.
: f(z) |z]=1 : | z] <1
z=0 z=0a . (6 .5)
(6 4)
2 2 '
Resf( z) = (Zél) :-%n
270 Z+5%+1 2=0
b
G| ey S
Resf( 2) =5 =5 =
z=a Z(Z-B) z=qa G(G'B) G-B

= P 5 :
_ 2a_2 a-b
I 58 Tt . b+ b
2
=g a- a-b
69
2t
b
Ij’ — .
o 1+cos®O
z=¢ |
4z7dz
'1r|wlu£+6£+1r
2= 4zdz _ 2du
(2 +6Z +1) (U +6uU+1)
z I , u ;

| = 2d u :%r du
fri(u2+6u+1) J r +6u+1l’



§ 2.

f(u T
Res f(u)=
u= -3+ 8 u+

R(cosB,sinB) ©

T

h{n

n 5 -4c0s X

it il :# r5z-

T

-

COS MmX

, I R(cos0,sin6)dd
0

I R(cose,sine)dezg R(cos0,sinB)do,
0 -T

1

J' R(cos8,9n0)d

COS _MmX

> 5 - 4oos x9%

X

T

COS mX «
x 5-4c0os x

" dn mx
dx, IZ{ + 5 - 4c0s x9%

i i mx

I1+ilzi — £ ____gx.

n 5-400S X

m

4

21+ 7) 97

m

4

:—ijrr

dz .
- (z-2)



238

ro £( 2) z:%,
st
_— 1 1 T
L +il, = o 211 3(2m.1) —3(2m.1)
T _
Il 3(2m—1), IZ_O;
=21 =
T2 T 32™)
“ sin X
I i o ax )
J' Ow sin Xdx ( )
[ e * cos bxdx(a>0) ( )
f(x) x [ a, b]
[ a, b] r, [ab] T
, D( 6.2). D ,
D ( D ) g(z), [a,b]
g(z) 9(2) f(x),

b

I o x)dxtf g(2)dz=2iy (6 8)



§ 2. 239

> 9(z) D
b
I f(x)dx . a b
(6 8) C Irg(z)dz
ﬂy
r
Sr
R
D
O| a b x %6 .
0 X
6 2 63
" P(Xx)
2. d
TR
. r .
61 f(z) S z= Re’ (:<0<86,, R
( 63,
lim zf(z) =)
S ( 0,< 6< 8, 0 ),
legI f(z)dz=i(0, - 8:)\ . (6 9)
i(8, -0,)A :f . d—zz,

R



240

ﬂ _f(2)dz - (8. -el)A‘ =J‘ . 1(—Z;'—)‘dz . (6 10)
€ >0, : R (¢) >0, R> R
|zf(z)->\|<92"f91, z S .

€ | _ _
(6 10) o Rt S ;=
R(6. -6.)) .
_P(2)
67  1(2)=503)

P(z2)=wZ +6Z '+ +cG(a#z0)
Q(z)=hZ+bZ "+ +h(bz0)

(1) n- mz 2;(2) Q(2)
% 0,
J’ f(x)dx:ZHiZ Res f( 2) . (6 11)
(1) (2) [ f(0dx
nn:[ f:f(x)dx.
P.VJ'. f(x)dx .
M« z= Re’ (0< 6< M) ( 64).
[- R,R] T« Ce, R
Cx f( 2) (

) - (2),1(2) &
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J'C f(z)dzzmiz Res f( 2),

R

J'_Rf(x)dxﬂ' r f(z)dzzzniZ Res f( z) . (6 12)

>0 2= 3

6 4
P |,eZ+ +o
| zf( 2) | ZQ(Z) Zb)zn+ b
Cn
m+ 1 Q)+ +_m
a Z
2 g4 2
ya
(1) n-m-1>1, [ r
| zf(2)| -0 (R- +o) .
(6 12) Ro +o0 | 6.1, (6.12)
, (6 11) .
6 11 a>0,
T dx
Io X +a

+ 00

I 4dx4=% dx4,f(z)_ 14,
o X ta - X +a + a
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T+ 2 kt.

a=ae * (k=0,1,2,3),

6.7
(k=0,1,2,3)
a, + a =0) .f(2)
a,
.[ 0 x“d+xa4 = - 4g4(ae2_i ¥ ae%ni)
= -Tui v (eTITi - e'%) :2T[a3 sin %
Tl
2 24
6 12
e X dx
y
f(z)=m z=
: 6.7
%i:a, z- a=t, z= a+ t,
z z
f(z)=(2+322)4=34(z-a)4(z+a)4
___(t+ &)
"3 (t+2a)
__1 a +4a t+6at +4at +t
3t 16a +32a t+24a t +8at + t'
1 i,t, &t
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1
3. 3248

Res ()= -

I (2+XTZ)4dX:ZTi L -1 .
e 576 6 288 6
. [ By
6 2( ) g( 2) [e:z= Re
(0B, R ) :
lim g(z)=0

R- + o

[ e
R[irg;[ o 2)e™dz=0 (m>0) .

€ >0, R (¢) >0, R>R
lg(2)| <€,z Tk.

:J‘ g( R’ )é™" R’ icp

ﬂ o z)e"dz

Tt

< q e- mRsinGCB’ (6 13)

Re' )| <e,|Rei| = R
9
imReB _ - mRsn 6 + imRcos @ _ - mMRsSn#®
| | =1 | =

o ( )

D_sne<o o<o< L
T 2

(6 13)
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_ﬂ ~g(z)e™dz

L
< 2@' 2 o T g
0

T
_2mR e'ZTTRGG >
qu e © ®=2%R
0

2mR -
T
=%(1' e mR)<1E
6 2, 5 7
_P(2)
68 9(2) =3y P(z2) Q(32)
(1) Q(2) P( 2) |
(2) 0(2)% 0,
(3) m>0,

6 13

+ oo
-f 0

6 8

I £ dx :leReS e
o 1+ R€E

+ oo

| .

g( X)eimde=2r[i ’_Z !:\Zeas[ g( Z)eimz] .
e >0 k

, (6 .14) |
: %((_);(%COS mxd x I : %((_)%sin mxd x

J‘ 005 MXy (o) .
0 1+ X

COS Mmx

_ + oo COS mX
1+dex_ de

+ o i mx

XZ 1+ 22

(6 14)
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= 2Ti — =me” "
" oS mx
I > dx =16,
v 1+
" cos mX 4o L m
Io 1+ X 2
" xcos xd X
6 14 )
_[ - X -2X+10
ze”
f(z)=
(2) Z -2z+10
ya
, m=1, = )
9( 2) Z -2z+10
f(2) z=1+3i z=1-3i.
ze’
Res f(2) =
7= 1+ 3i ( ) (22_22+10)’ 7= 1+ 3i
_(1+3h)e”"
8]
o xé'dx .. (1+3)e’”
I . ¥ -2x+10 20 6i

%e'3(1+3i)(cosl+isjn1)
%e'g (cos1l-3sin1l) +i%e'3(30031+sin 1) .
" xcos XdX T -3 .
=—e (oc0osl-3sinl),
I-w X -2x+10 3 ( )
o xsin xdx T s .
=—e (3cosl+sinl) .
I.m X -2x+10 3 ( )
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, . 6 8 Q( z)
, : Q( 2)
_ P‘Z, i mz
: f(z)= e
(22302
: 6 1 _
63 f(z) S:z-a=r€e (6,<06<0,,r
) :
lim(z- a) f(2)=A
S :
Iriqlf . f(2)dz=i(: -0.)\ .
. dz
oo =f 35
J‘ f(2)dz - (0, -el)A‘ :J‘ (z-a)(2) - Ay,
Sr Sr Z - a
6.1 , r ,
€ .
6 15 IO S”:(de
J— an XdX ’
0 X
Tsin x o _1 "7 dn X
Io » dx—2P.VI. Ty dx .
_¢
f(2)=7 6 5 C
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“R o 7 R %
6.5
4 P P
Ir de-j- Ch Zdz-j- - R dej. ¢ ZdZ—O- (© 49
C Z= Rie Z= reie(0< O<m, r<

6 2
. e _
RIJUI . >dz=0
6 3
e -
lrqu c, Zdz_r[
(615) , r-0, R +o ] Sdx
P V[ =-dx =i
" sin x 1 sn x, _TU
J'O xd_ZP'VIw dx=7
6 16 (Poisson)

[. ¢ dtzg, (6 16)
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(Frensndl)

+ o0 + oo

J’ cosx d x J' sin Xdx .
0 0

2

f(z)=e ",
6 6 Cr .

6 6

R 0 2T[.

{0 e'xzdxf r e'zzdz-j' Re'”’?e%idx. (6 17)

L
:ﬂ 4 e— R2(c052(p+is'n 2(p)i Relq) d(p ‘

sj e " " Rdg

N —~

ol

o

m|
;UN
A
&

Harley Flanders, Frensnel
(1982) ,264—266 . 7(1983),28—29 .

Amer . Math . Monthly .4
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R 2% |77
- 2. 2R2e 8=0
_ T R
“arit-e |
R—» + oo ,
.22
J‘ e dz| Lo.
rR
R.+o (6 17)
1—+f (cos X - isin xz)dx
2 0
re 2 (6 16) 1T
1'0 e " dx > -

" (cos ¥ -isin X )dx=+ 1.
Io 2 2 '
h cos X dx - dn ¥dx=—+ L

IO io 2 2
617
too 2
Ii e “ cos bxdx,a>0.
0
b=0,
+oo o t= ax 1 +oo 2
Ifo e ¥ dx _io e ' dt
616 1 m_1 mn
~ 3% & (6 18)
bz 0, cos bx b>0

2
az

f(z)=¢
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_l e - (ax” +ibx) _i bi e a X+ =i 2
|_2RJ5 ) dx—zReeT ) 22 dx
1 b2 +oo+2—ba| 2
=Ee"GRf e T dgz, (6 19)
S0+ i
(6 18)
*oeo 2
I e ¥ dx= L. (6 20)
_w a
y
b
D 24 c
A
A B
-R 0 R x
6 7
-322
, f(z)=e ™, 6 7
C .
az -a22 az aZ2
Ozj' CRe dzzj'ABe dzi[ N dzt[ e dz
2
t[ “dz. (6 21)
DA
(6 19) (6 21),
(6 19) b2 o
ie“‘Re lim e d
2 Ro +o bC
(621) 1 [ az az
>€ **Re lim e dzf e dz
a22
1 e ¥ dz
DA
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z== R+iy 0O< y<—b
a - 7= 2a’
2
az aRZ-y?) B g2
le | =e < éie
2
RIJDI e dz:o,leq _e¥dz=0
12 . N
:Ee a Re leli ABe dz
(6 20) 1 b_z TT
Ze a
( ),
" ] F(Z)
z=x F(x)=f(x)(f(x)
) Re(F(2))=1f(x) Im(F(2))="f(x).
' (
) ;
6 .
" 618
’ In X
.Io (1+x2)2d '
O , T R , Ox
! , R Ox AB

B A C( 6 8) .
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6.8
__Inz
f(z)_(1+22)2
C i
c . f(2) C
- 2 In z _ _In z
e(z)=(z-1) 2+ (20 (21
(p’(z):l. 1-2' 2.3|n Z,
Z (z+i) (z+1i)
Res f(2) ©7 ¢ ()= - & . 2 LL_TE2
_Inz
IBMB 1 oA -T ANATABic(l‘FZ)
(6 22)
In z
(1) T (1+ 22)2:0’ 6 1
In z _
IBMB (1+ Zz)de—O.

(6 22)



In z
(2)  lim 1+zy 0 63
J.ANA (1IEZ§)2dZ_O

(3) AB z=x €"(x>0),

) In z In X
Ir'fg N —(1+ Zz)zd210 —(1+X2)2dx.

R + o
(4) AB z= xe (x> 0),
In z=In x+im,dz=€dx= - dx.
In z In X+ 11

Uﬂn;: . mdzj’ . m( - dx)

R- +

+ 0o

In X+
ff —dX.
0

(1+ Xx)
, R—>+0°,r—>0 ,(622)
" In X T x+im o, T T
I, (1+ xz)de*j’o 1+ )y 4= 27"
™ Inx gx= - L
fo (1+ X)) 2"
" In X i
Io (1+ X)° 4
6 19

' d x
I 3 )
1 (- x)(1+ x)

f(2)= (1- 2)(1+ 2)°,
z (2 24) ,+1 -1

z 69 (-1 +1
@, =arg(1l+ z) o@.=arg(1l- z)



a,
201 + @
ag f(2) ==—3
o . f( 2) .
[-1,1], f(2)
1y
X
69
[ -1,1] AB
6 9 r=G+C + AB+ C/
z [-1,1] AB ,arg f(z) =0,
f(2)= (L- x)(1+ x)° >0.
z B C B, f(2) %’ﬂ
: 2
B A ,argf(z)——gn,
f(z)=e® (1-x)(1+ %)’ .

j g dz|
. 1(2) A1+ z)P |1 z))

r

L
3

f(2)

+ B A,

[ _111]
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1
< —1d
J’Il-ZI:Ir r?l Zl
= r%:mr%
r3
ﬁ f1 dz| <f [d] r< e’
. (P (1t 2f |1 2))
r-o0
1 _
J’r 1:(Z)dz—O,
r-0
et dx dz
1-e Sz
I -1 3(1_ X)(1+ X)Zj. c, f(2)
— o 1
= RSTSy (6 23)
f(2) .z AB
(1, +o) , z B C( 6.9 1
(1,+00) e ,1+Z ’ l' 7
m, f(2) %
(1, + )
f(2)= |1- z||1+ z|e’ ¥,
3 2 -
f(z)= (z-1)(1+2z) e’ (6 24)
(6 7),
1 1
Res = Res 3 )
== f(2)  2== (1- 2)(1+ 2)
1 1
= -It:a:eos 3 1 1 2.?
1-— 1+~

—+
~—+
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1
= - es 3 2
=0t (t-1)(t+1)
(t=0
= - l = - 1
(t-1)(t+1)""=° -1
(6 24) 1 n,
- _T[_i:_eg’ .
eS
2, (6 23) o
: (1-¢e*)l = - 21
Ij’ : d x = Tl :@.
(- x)(1+x) sin% 3
6 20
Il d x
o (x-2) X (1-x)
f(2) = 7,
(z-2) z(1- 2
TZ(-2=F(2) (2 24) ,
z=1 , Z= 0 : [0,1], F[ 7]
: z=2(>1)
f(z) [0O,1] z=2
, Z= :
O , C
C 1 2 ( 6 .10); 0 1

Yo Y, r
(1) I _ f(2)dz= - 2ti Resf( 2),
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6 10
f(z) o % —i
Res f( 2) =0.
I f(z)dz=0
(2) 00 ( ( )5 .
D z 00 C
C.,C, ,GCn £( 2)
4, 72y, y Zn 00 ;
Cl

- f(z)dz=2ti Z Bezsf(z)+5?osf(z)
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J’ _ f(2)dz=21i Res f(2) +Res f( 2)
2

=i Res f( 2) .

1 1

_ _ .8
zR:eZSf(Z)_5_4 -54_-21

I f(z)dz= - 2ni -?8 =" gti .

(3)
im([ f(z)dzi[' ABf(z)dzj’ _ H(2dz =y,

63, f(2)

lim[ f(z)olz]r _ f(2)dz =f _ f(2)dz

= - 8mi. (6 25)
5 2 3
(4) z(1- 2)
Vi x(>1) TR (x-1)7d,
x(0< x<1)
5 2 3 i n+£
X(1l-x)e °*
z : 1-12z m) ;
x(0< x<1)
5 2 3 i T[—ﬂ
X(1l-x)e °*
1- 2z -T0)
r-0 ( 6 11),
(6 25), 1!
® ai dx

o'||§J

- I°(x-2)5x2(1-x)3é“*
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° d x
-j’ 5 2 3 i nm-0
'(x-2) xX(1-x)e °
. cem o
~ 5 . 5
: e e dx

o (x-2) X(1-x)°

- e -e 5
= a— ~dx.
J °(x-2) x(1- x)
Yo 71
A B
O Jr i
6.11
1 5 .
d X - 8mi
I > 2 3 L®
°(x-2) x(1- x) es -e s
= -58,-[
o
29N 5
8 3.
1 f(z
2 . f(z2)92
f(z d
f(2) ( E =gl (2
| i 2) f(2)

f(2)
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64 (1) a f(2z) n : a
f (2)
f(2)
f(z) _
Re; f(2)
f (2)
(2) b f(z) m , b i 2)
f(2) _
Res f(zy -~ ™
(1) a f(2 n , a
f(2)=(z- a)"g(2),
9( 2) a , g(a)z0.
f(z)=n(z-a)" g(2)+(z-a)"d(2),
f(z)__n . d(2)
f(z) z-a 9g(2 °
d(2) a a f (2
9( 2) ’ f( 2)
f(z) _
Res f(z)
(2) b f(z) m , b
f(2) = o,
h( z) b , h(b)# 0.
f(z)_-m+H(z)
f(z) z-b h(z)’
H(2) b b ' (2)
h( 2) ' f(2)
f(z) _
Res f(2z) m-

69 C f( 2)
(1) f(z) C '
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2) f(2) C |
—1J’ CT((—))-dz— N(f, C) - P(f,C), (6 26)
N(f,C) P(f,C) f(2) C
( n n : m m
) .

( )14, f(2) C
a(k=1,2, ,p) f( 2) C
n;b(j=1,2, ,q) f(zg C

m, 6 4 %72)1 C
C C a(k=1,2, ,p) b (j=1,
2, 64
.cﬁ;%dz-z e LE -5 re L
'Z N + Z (-m)=N(f,C)- P(f,C).
2. (6 26) f( 2)

1 f(z),._1 d
Ej ] f(z)dz_if _g5lin f(2)]dz

Elf _din f(2)

:% _din | (2) |+ﬁ _darg f( 2)

In|f(z)| z : zZ % C

%

J’ _din[f(2)[=In|f(z)]-In|f(2z)]=0
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, Z 2 C yA ’
arg f( z) : 6 .12, w= f(2z) Wo =
f(z) w=0 wWo = f(2) . ,
arg f( z) O Po at .

Zo
4
C/ w=/(2) AN
[O07 u

C

c f(2) 211
_Acargf(2)
o ,
Acargf( z) z C arg f( z)
2 .
, 69 :
69 , f( 2) C
, z C arg f(2)
Acag f(2) 21,
N(f, C) - P(f, C):Acarng(z) | (6 27)
f( 2) C C ,  f(2)
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Acarg f(2)
o :

6 21 f(z)=(z-1)(z-2)(z-4),C |z|=3,

N(f,C)= (6 28)

f(z) z , C : C
z=1 z=2.
N(f,C)=1+2=3;
z C
Acarg f(z)=Acarg(z-1) +Acarg( z - 2)°
+Acarg(z- 4)
=Acarg(z-1) +2Acarg(z- 2)
= 2T + 41 = 671,
(6 28)
69 (2) ¢ f(2) C,
Cf(z)z 0", (6 27) [ f(z) C
(6 28) ]
C c, C
: cC, 69
N(f,C)- P(f,C)=N(f,C)

Acarg f(2)
2_[ b

- P(f,C)=

C . C, f( 2)
6 22 n
Plg)=aZ+az + +a (a# 0)
Re z<0

y(_Awargm) P(iy) = nt .

z 00 00 , P( 2



n
2
Ce
i TT Tt
FR:zzRee 'ESGSE
Ri - Ri ( 6.13).
| Y
Ri
CR
0 R  x
FR
—Ri
6 .13
P(2) N(P, C) =0
R , (6 28)

0= RIir+nmA c,argP( 2)

= RIi[nmArRa”g P(z) - RIir+nmAy<. R +ryargP(iy) . (6 29)

Ar arg P(z)=Ar arga Z [1+ g( 2)]

=Ar_arg a Z +Ar_arg[1+ g(2)],

n-1
a ”Z + + a,
= ~ , S+
a( z) % 7 R 00 g(z) (S
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RIﬁir+'nwArRarg[1+ g(z)] =0.

Ar arg & Z =A; 1 .t arg & Ré” = nr.

, (6 29)
Ay .o +oyarg P(iy) = .
Ldy, d Ty, Fay= (1)
dt dt' "

6 22
3 (Roucle)
6 10( ) C : f(z) o@(2
(1) C , C,
(2) C ,[f(9]>|e(2)],
f(z) f(z)+e(z) C (

N(f+¢@, C)= N(f,C).
f(z) f(z2)+9(z2) C

C | f(2)| >0,
| f(2)+o(2)[z |f(2)| - |9(2)[>0.
f(2) f(2)+0(2) 69

C : (6 28),

Acarg[ f(2)+o(2z2)] =Acarg f(2) . (6 30)
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f(D+e(2)=1(2) 1+ 54
Acarg[ f(2) +@(2)] =D carg f(2) +Acarg 1+%§—§)1 . (6 31)
(2), =z C lo(2) f(z)]| <1. n=1
Q(Z)
+ f(2) z C n r . r
n-1]=1 (6 14), n=0
n n=0

PRC NG
., 90 ¢
/ ﬂ i ol /\
0 =~ 0 U 2
h/ r

Acarg 1+M_Zl =0,

(6 31) (6 30)
6 23 n

p(z)=az+ +az + +a (az0)

la|>]a|+ +]a.[+]a.a|+ +]a],
p( z) | z] <1 n-t
f(z)=az ',
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o(z)=az+ +a.Z2 ""t+taanZ '+ +a,
|z|=1 ,
| f(2)[>]e(2)].
,P(2)=1(2)+0(2) | z| <1 :
f(z)=az ' | z| <1 . on-t
Z -57 -2z+1=0 5 ;
Z -57Z+7 -2=0 4 ;
Z -5z+1=0 1 ;
Z +62z+10=0
6 24 : lal>e | e -az =0 | z|
<1 n
lz|=1
| - aZ'|=|a| >e,

Re z | z|

le’|=e " "< e’ =e,

|- aZ' | >|e],
e’ - aZ | z|]< 1
N(e" - az ,|z|=1)=N(- az,|z|=1)=n.
e -az =0 |z| <1 n
625 : n
aZ+az + +ai.z+ta=0 (az0)
n ( ) .
f(z)=aZ,p(2)=az '+ +a, z
C:|z|=R :
R>max|al|+ +|a"|,1,

EX
9(2 s |alR '+ +]a.|R+|a]
<(lal+ +]al])R"



268

<la|R =|f(2)],

| z|< R ,
n n-1 n
»zZz+taaz + +a,..z+a =0 vz =0

&»z =0 |z|<R n z=0.
n | z| < R n
, |z| =R : %,
| 2| = R2 R,
laz+taz + +ai2+al
>|az|-lazd +az + +a

v

la|R-(la|R " +|la|R "+ +|al)
>la|R-(lal+lal+ +|al)R
Rg_

> | a | |a | R =0,
n | z] = R
n Z n
6 26
Z -7+12=0 (6 32)
1<]| 2zl <2
6 23 (6 32) | z| =1
| z| =2
|12- 2 |< 12+ | z|' =12+8=20<128=2"= | Z |,
, (6 32) 7
1< | z| <2
| z| =1
1Z-Z|=1z’1Z -1 |zIP(1z]'+1) =2,

|z - Z+12|212-|Z - 7|2 12-2=10>0.
(6 32) 1<|z| <2



6 11 f(2) D : D
f(2)20.
D Z f(z)=0, =z f(z)- f(2)
n (n= 2) . : o >0,
Cilz- z|=90
f(z)- f(z)% 0,
C , (2 - () f(2z2) Z
m |f(z)-f(z)|] C
O<|-al<m ,f(2)-f(z)-a C
n : : f (2z) C
Z . D f(z)- f(z)-a
4,%, ,nL f(z) - f(z)-a C n

f(z)="f(zn)+a (k=1,2, ,n).

f(2) :
D f(z)#0.

6 .11

1 f( 2)

4
(z-1)(z+1)°

z=+ 1,00

(1)

. _ 1. _ 1
Res f(2)= iR ()= -
1
sin z

(2)

z=m(n=0,+1, ).
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1

:5en§f(z)=oosm=(-1)”.
(918 z=0w .
:Fi%sf(z):-%.
(4) &1 221, .
:FZ{:elsf(z):1.
zZ" B
(5)(2_1)n Z—l,oo_
. _ (2n) !
Rs (D= (ne)
(6) Zzefl 7=+ 1,
Res 1(2) = _12_6'
2 f( 2) ( ) (m
).
(1) z"sin >
:m ,Ii(—:(-)sf(z):o;
__(-DF
m 2k ResH2) =Gy 1
@ 55
‘Resf(2)= - = e =e m(k=0,1, ,m-1);
) m-1 & -
Rs ()= -y % (@'=-1)
1 ™t 0, m>1,
= = e =
mZo -1, m=1.
1
) GarroEy @B
. _ 1 1
R R AR TEE



Z

(4) 7

Z(z-mi)*

:Res f( z):"n'—s‘“;

z=0

Res f( z)=$(n3 + @i - 181 - 24i) .

3
(1. |71=1 ZSiN Z( )_.[ l2=2 1+ szz,
- dz ) _ .
Cf i (Fn SX Y T2y
- dz lal <1
(4 1z2=1 (z- a)"(z- b)" |b|<1'a¢ o n
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